Svenska Bridgeférbundet
Simultan 2022-05-05

Partavling, 93 bord, 178 par. Antal brickor: 24. Medel: 2015.4. Frirond (*) ger egen procent.

Plac Par
1 J12
2 N6
3 Fi15
4 Gl
5 N3
5 G4
7 B9
8 A6
9 L7
10 H3
11 M10
12 B7
13 E8
14 L10
15 K7
16 L11
17 C1
18 G6
19 F16
20 Ni11
21 D10
21 D12
23 12
24 E1
25 N12
26 F18
27 E11
28 H8
29 D1
30 F20
31 D6
32 E4
33 NI10
34 N4
35 K8
36 L16
37 D19
38 G17
39 J7
40 B6
41 L3
42 K6
43 H2
44 11
45 L15
46 15
47 L14
48 G116
49 M9
50 M1
51 F5
52 B5
53 K3
53 B13
55 N7
56 J4
57 J6
58 J10
59 C4
59 D11
61 G12
62 D7
62 F10
64 M3
65 D9
66 J8
67 E7
68 B2
69 G15
70 A3
71 Al
72 B4
73 L12
74 J11
75 L4
76 A5
77 13
78 D13
79 D17
80 Bi11
81 E5
82 N13
83 HI10
84 D4
85 L1

Poang

2775.0
2700.0
2651.0
2622.5
2590.9
2590.9
2564.7
2560.8
2551.0
2500.0
2475.3
2432.7
2428.0
2427.0
2414.9
2411.0
2394.0
2379.3
2379.0
2366.2
2364.0
2364.0
2353.0
2341.0
23215
2310.0
2306.0
2280.0
2278.9
2258.0
2254.9
2245.0
2241.0
2234.2
2232.0
2230.0
2228.0
2223.0
2222.0
2210.2
2208.0
2206.9
2205.0
2203.0
2202.0
2197.0
2191.0
2189.0
2174.2
2170.9
2169.8
2163.3
2160.0
2160.0
2143.6
2131.0
2130.0
2128.0
2124.0
2124.0
2120.7
2117.5
21175
2116.4
2115.3
2113.0
2112.0
2109.8
2109.0
2108.4
2103.6
2103.3
2101.0
2088.0
2084.0
2080.0
2079.0
2078.0
2075.0
2071.6
2071.0
2068.4
2067.0
2059.6
2056.0

%

68.82
66.96
65.75
65.04
64.26
64.26
63.61
63.51
63.27
62.00
61.39
60.34
60.22
60.19
59.89
59.80
59.38
59.01
59.00
58.69
58.63
58.63
58.36
58.06
57.58
57.29
57.19
56.55
56.52
56.00
55.93
55.68
55.58
55.41
55.36
55.31
55.26
55.13
55.11
54.82
54.76
54.73
54.69
54.64
54.61
54.49
54.34
54.29
53.92
53.84
53.81
53.65
53.57
53.57
53.17
52.85
52.83
52.78
52.68
52.68
52.60
52.52
52.52
52.49
52.46
52.41
52.38
52.33
52.31
52.29
52.17
52.16
52.11
51.79
51.69
51.59
51.56
51.54
51.46
51.38
51.36
51.30
51.26
51.08
50.99

Namn

Mats Bud - Ingvar Hansson

Krister Retzman - Kenneth Carlsson
Mona Mattsson - Bengt Jonsson
Julia Borg - Karin Olsson Svedlund
Gun-Britt Rindstal - Jan Karlsson
Gunilla Alm - Peter Alm

Kerstin Haak-Fryklund - Gunilla Olsson

Kjell Carlsson - Hakan Svensson
Kent Karlsson - Thomas Axenbratt
Per Laving - Kerstin Ekdahl

Elsy Boman - Kerstin Forsman
Alf-T Nilsson - Erik-O Sandstrém
Peter Johansson - Mats Larsson
Frank Andersson - Ronnie Brorsson
Axel Bring - Pelle Hojer

Eva Haggstrom - Jonas Haggstrom
Rogert Deiwall - David Eriksson

Suzanne Sandquist - Morgan Kronlund

Per-Erik Pettersson - Gert Fors
Anders Ekstrom - Bjorn Pedersen
Peter Krug - Anders Norin

Lars Kennethsson - Per Granath
Roland Alm - Arne Dahlgren

Bjorn Holm - Dag Josefsson

Kent Lundstrém - Kaj Rothman

Bo Selander - Christina Gutenwik
Kaj Hjalmarsson - Bengt Sddergren
Besa Spahiu - Helene Hagglund
Yvonne Arvidsson - Annika Nilsson

Britta Akerblom-Nilsson - Lisbeth Rosendahl
Margareta Brorsson - Maj-Britt Wester

Jan Holm - Love Haggkvist

Kjell Fagerstrom - Torgny Svensson
Tomas Gustavsson - Johan Ohlsson
Annabella Holmquist - Sten Arvidson
Elin Hognert - Niclas Samuelsson
Mats Gunnarsson - Arne Johansson

Inga Karin Spangberg - Annbritt Nilsson

Robert Frank - Johan Géransson

Ann-Charlotte Nilsson - Tina Andersson

Jan-Erik Olsson - Lars Johansson

Sten Lindbéck - Allan Nouri Otman Farha

Jan Jensen - Lars-Ake Sjostrém
Johan Lundstrém - Bill Larsson
Bjorn Agheim - Bjorn Hesthagen
Kjell Jénsson - Rune Carlstréom
Johnny Holmen - Rolf Kjaerstad
Bjorn Rosén - Erik Strandberg
Eva Eriksson - Berthold Ogren
Margit Hagglund - Rolf Andersson
Jan Nilsson - Lars-Ake Nilsson

Birgitta Jernbom-Lundberg - Ulla Johansson

Anders Hoby - Hans Hultgvist
Odd Stokka - Krister Persson

Carl-Gustaf Sunnergren - Willy Hagstrém

Jorgen Wallmon - Peter Backstrand
Bilal Zafar - Lars Wallmark

Lisbeth Quisth - Christer Assarsson
Klas Lofgren - Tewelde Okbey

Ulla Davidsson - Ewa Fager

Peter Akesson - Bo Gustafsson
Eva-Lotta Lindvall - Kenneth Lindvall
Eddie Eriksson - Daniel Eriksson
Sten Haggstrém - Lars Ahlenius
Christer Hedborg - Eva Mansson
Nicklas Widhja - Stefan Lilja

Erik Franzén - Mats Hall

Hans Akerman - Jonatan Johansson

Monica Samuelsson - Helena Ervenius

Henry Johansson - Ulf Westlin
Kjell Holmgren - Malin Helin

Hans-Olov Gustafsson - Bo Danielsson

Stanley Lysell - Anders Ohlsson
Christina Bjerklin - Mari-Ann Stenberg
Inger Taflin - Birgit Hognert

Bengt Eriksson - Hasse Rohlin

Bror Wahlberg - Anders Lindeberg

Marita Christiansson - Gunnel Johansson

Carl Bjork - Inger Ostenson-Traff
Goran Olsson - Bo Lundin

Jan Pettersson - Rolf Aimgren
Tomas Deltin - Stefan Léwenborg
Peo Lindholm - Anne-Marie Lindholm
Cay Krug - Hans-Goran Larsson

Karl Andersson - Rolf Forsgren

MID

234
89581
30608
66497
7974
39167
3735
6176
3918
2603
14440
17450
245
91300
11106
3206
23284
60992
10690
11674
14201
17074
26005
89793
85082
10057
16054
62428
42199
27449
83530
45
83397
60226
32282
41746
9495
36045
25150
60863
7538
2143
92632
61167
65676
2208
67748
35347
53815
46273
4501
30068
52765
18637
55114
15095
59699
87306
19303
25113
93876
65525
57223
32558
11610
25146
76
15204
34953
31018
3368
5401
88649
15096
55152
14261
29442
84603
55384
15930
8060
16058
38019
14200
7543

24102
13421
30612
60972
13617
9226
92512
3390
10248
6613
3445
12039
241
78207
24896
38667
33720
16220
16982
14134
8191
14609
63623
51
1011
6301
49886
40466
36967
30600
39690
46
34398
20691
36357
4362
9492
36047
6915
32414
50647
47179
9826
18073
64109
2041
59674
12227
63347
52457
12667
84354
2199
8789
52886
13838
6908
88557
59641
25115
82493
65523
36363
34696
86752
20858
148
62721
48882
3230
30933
12767
30031
11239
93818
83807
24108
17339
89395
14818
155
16057
38018
26744
13628

Klubb

BK Opalen

Overums BK

Hassleholms BK
Kalmarsunds BK

Overums BK - Vasterviks BK
Kalmarsunds BK

BK Bjorken

Bollnas BK

Uddevalla BF

Norrorts Bridge
Ornskoldsviks BA

BK Bjorken

Borlange BK

Stromstads BK
Saltsjdbadens BS

Bords BA

BK Dalom

Kalmarsunds BK
Hassleholms BK
Valdemarsviks BK - Filbyter Bridge
Harplinge BK

BK Falkenberg - Anderstorps BK
Nynashamns BK

Hedemora BS - Folkare BK
Overums BK

Hassleholms BK

Saters BK

Norrorts Bridge

BK Allians, Halmstad
Héassleholms BK

Harplinge BK - SPF Kvarnens BK
Hedemora BS

Gamleby BK - Overums BK
Gamleby BK

Saltsjobadens BS
Strémstads BK - Uddevalla BF
Atrans BK

Kalmar Dambridge

BK Opalen

BK Bjorken

Tanums BK

Sthims-Polisens BS - BK S:t Erik
Norrorts Bridge

Nynashamns BK - LM Ericssons BK
Stréomstads BK

Nynéshamns BK

Stromstads BK

Kalmarsunds BK
Ornskdldsviks BA
Ornskoldsviks BA
Hassleholms BK

BK Bjorken

BK S:t Erik

BK Bjorken .

Helgenas BK - Overums BK
BK Opalen

BK Opalen

BK Opalen

Insjon-Leksands BK - BK Dalom
BK Allians, Halmstad
Kalmarsunds BK

Harplinge BK

Héssleholms BK
Ornskoldsviks BA

BK Allians, Halmstad

BK Opalen

Hedemora BS - Borlange BK
BK Bjorken - Luled BK
Kalmarsunds BK

Bollnds BK

Bollnés BK - Gavle BK

BK Bjorken

Stromstads BK

BK Opalen

Stromstads BK

Bollnds BK - Séderhamns BS
Marinens BK - Nyndshamns BK
Harplinge BK

BK Allians, Halmstad

BK Bjorken

Hedemora BS - Saters BK
Gamleby BK

Norrorts Bridge

Harplinge BK

Tanums BK
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115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
131
133
134
135
136
137
138
139
140
141
142
143
144
145
146
146
148
149
150
151
152
153
154
155
155
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177

2048.7
2038.9
2032.0
2024.7
2022.5
2021.0
2019.3
2018.3
2018.2
2014.9
2014.9
2006.0
2003.0
1993.0
1992.0
1991.0
1988.0
1983.0
1978.9
1978.0
1973.0
1970.0
1963.6
1962.5
1957.1
1949.5
1947.3
1930.0
1928.0
1922.2
1921.1
1906.8
1898.0
1897.0
1885.1
1883.0
1881.0
1874.0
1868.0
1864.0
1858.9
1855.0
1852.6
1852.4
1849.1
1848.0
1848.0
1840.0
1835.0
1834.9
1832.0
1831.0
1825.0
1820.7
1809.0
1801.0
1793.5
1792.8
1786.9
1772.0
1767.0
1767.0
1752.0
1743.3
1736.0
1735.0
1701.8
1694.2
1691.0
1652.0
1652.0
1645.1
1639.6
1636.0
1630.9
1629.8
1624.0
1616.0
1575.0
1572.0
1546.8
1529.5
1525.1
1514.2
1482.5
1478.0
1460.0
1446.5
1443.0
1393.1
1390.0
1326.5

50.81
50.57
50.40
50.22
50.16
50.12
50.08
50.06
50.05
49.97
49.97
49.75
49.68
49.43
49.40
49.38
49.31
49.18
49.08
49.06
48.93
48.86
48.70
48.67
48.54
48.35
48.30
47.87
47.82
47.67
47.65
47.29
47.07
47.05
46.75
46.70
46.65
46.48
46.33
46.23
46.10
46.01
45.95
45.94
45.86
45.83
45.83
45.63
45.51
45.51
45.44
45.41
45.26
45.16
44.87
44.67
44.48
44.46
44.32
43.95
43.82
43.82
43.45
43.24
43.06
43.03
42.21
42.02
41.94
40.97
40.97
40.80
40.67
40.58
40.45
40.42
40.28
40.08
39.06
38.99
38.36
37.93
37.82
37.55
36.77
36.66
36.21
35.88
35.79
34.55
34.47
32.90

Bengt Ove Olofsson - Lena Andersson
Monica Mattson - Monica Jérgensen
Peter Wester - Eva Nyberg

Gunnar Bodén - Thomas Wastlund
Linus Olsson - Hans Olsson

Lars Jarskog - Kenneth Osterberg

Per Strandberg - Gunilla Magnusson
Dagmar Sjolin - Lena Eriksson

Tomas Berggvist - Mikael Hjerm

Jan Ola Vestin - Per Hoppman

Marietta Lovgren - Jannike Jevring

Ake Karlman - Géran Andersson

Sven Andersson - Kerstin Olsén

Tommy Abrahamsson - Ing-Britt Abrahamsson
Anders Johansson - Margaretha Strandberg
Tomas Erlandsson - Jorgen Kinhult
Sune Gustafsson - Erik Fredriksson
Johanna Granlund - Jan-Olov Lundqvist
Lasse Larsson - Marianne Larsson
Ann-Christin Malmgren - Lisbeth Hoby
Katarina Johansson - Curt Petersson
Lars-Olof Hessle - Kerstin Hastad
Kenneth Johansson - Gunnel Jansson
Anders Ljung - John-Ove Backlund

Britt Jarnestrom - Elisabeth Eriksson
Johan Hermansson - Katarina Svensson
Ake Lundberg - Annette E Rutstrém
Anita Bergwall - Heléne Roth

Kjell Nordin - Kati Nordin

Gail Unger - Bo Svensson

Olaus Olsson - Stefan Hansson

Sigbritt Bengtsson - Tobias Edvardsson
Jan-Inge Troedsson - Ronny Upphoff
Hakan Sommerfeld - Nicholas Belaieff
Ann Ingberg - Karl Ingberg

Maja Hildeberg - Kent Karlsson

Hans Malmgren - Lars Hallén

Hans Lekberg - Sven-Erik Svensson
Kent Olsen - Anders Tholén

Vivi-Anne Malmgvist - Tommy Malmaqvist
Marianne Skovsted - Kjell Dahlman
Vladan Vucetic - Fadi Shoshara

Sonja Rat - Gunvor Johansson-Hajdu
Lars Tegard - Stig Akesson

Gunnel Pettersson - Karin Forsberg Carlsson
Inger Adregard - Lena Grevesmiihl Ravik
Rolf Svensson - Anders Svensson

Mats Hargell - Lars Lovius

Bo Landarv - Anki Landarv

Bo-Helge Pettersson - Leif Jonsson

Bert Wahlin - Natale Bellan

Sdren Hansson - Lennart Wilgotson
Benny Holm - Gun Skire

Eva Berlin - Anneli Jénsson

Kerstin Hagglund - Christina Truuberg
Mona Andersson - Inger Olsson
Ingemar Lindgren - Lage Nyberg
Elisabeth Troedsson - Ingrid Larsson
Barbro Gimbergsson - Karl-Axel Gimbergsson
Torgny Svensson - Roland Bérjesson
Marita Grane - Radu Tomescu

Rikard Nilsson - Thomas Brydolf

Bengt Nordenhem - Ingvar Karlsson
Gunnar Gyllenram - Gerd Gyllenram
Rose-Marie Jarl - Bo Gisslander

Carina Adamsson - Agnete Friestedt
Kenneth Jorgensen - Ronny Frost

Rolf Gustafsson - UIf Ravik

Hussam Sawan - Ola Lundstrém
Carl-Johan Carlsson Melin - Christina Melin
Gorel Upphoff - Eva Andersson
Asa-Lena Stahl - Christina Lidstrém-Nordin
Anders Elfving - Qatarina Laine

Maritha Wilén - Mari-Anne Wahlin
Michael Lagerkranser - Birgitta Lagerkranser
Anders Svensson - Kjell Friborg

Ulla Sérqvist - Agneta Johansson

Kjell Rosén - Annelie Hed

Gerd Lysell - Rose-Marie Antonsson
Vega Slottner - Bengt Sérensen

Gunnar Albertsson - Gunvor Albertsson
Jan Berglund - Leif Sandberg

Lillemor Cederlof - Kenneth Cederlof
Aina Serse - Britt-Marie Ekerot

Ake Sjostrand - Lars Lindstrém

Evy Westlund - Birgitta Spjut

Per Eklund - Ingrid Haglund

Bo Féldt - Bert Hagman

Douglas Jonasson - Yngve Andersson
Agneta Wikberg - Seppo Larvia

Majvor Norberg - Karin Wiberg

Birgitta Melin - Louise Armfeldt-Mirbt

35966
92102

43485
30150
88855
57572
52492
3191
201043
33848
52115
41907
49166
13517
9923
88664
20440
2505
16186
33743
10170
11997
20413
29985
28975
3379
94347
13960
24928
13518
88900
13420
60952
63173
49430
41120
51106
26771
52956
16230
59642
60323
61259
42705
89066
26039
5458
65029
64095
41515
30665
32039
30604
82566
7542
34514
17566
55801
59088
52816
42591
33314
790
10408
35933
42891
16192
59640
28436
4011
19673
47451
58111
25782
17617
67260
45349
88654
86942
63254
13087
57498
35406
86936
31647
62939
42704
30435
54501
39801
36048

35967
25753
11574
57567
201358
4700
55245
32292
82732
201042
17649
10951
50627
43481
42760
7453
7561
84131
18989
37955
9118
11222
7404
8964
1407
10953
201040
61092
14434
85846
82492
26334
2500
60884
63172
47958
41245
26392
50135
52955
81063
64841
17919
45382
58816
52721
39152
17047
65028
65254
26026
54691
32040
33300
93305
92887
81564
61920
55802
42173
62403
58315
57630
87194
51029
13159
30618
89160
34789
29977
45475
38619
33317
20690
91580
25838
41908
53595
88657
86943
63253
91381
17786
35400
79635
37246
19518
44374
54680
55271
85183
46571

Harplinge BK

Hassleholms BK - Hassleholms Dambridgeklubb
Hedemora BS

Ornskoldsviks BA

LUCK - Hassleholms BK
Héassleholms BK
Ornskoldsviks BA
Saltsjobadens BS

BK Bjorken

Ornskoldsviks BA
Saltsjobadens BS
Kalmarsunds BK

Stromstads BK

Ornskoldsviks BA
Kalmarsunds BK - Kalmar Dambridge
Uddevalla BF - Billingsfors BS
Stromstads BK

Borlange BK

BK Allians, Halmstad
Saltsjobadens BS

Varnamo BK

Norrorts Bridge

BK Falkenberg - BK Allians, Halmstad
Ornskdldsviks BA

Vasterviks BK
Bridgekamraterna Nybro - Kalmarsunds BK
Ornskdldsviks BA
Hassleholms BK - Hassleholms Dambridgeklubb
Hedemora BS

Kalmarsunds BK

Kalmarsunds BK

Bollnés BK

Harplinge BK

Norrorts Bridge

Ornskoldsviks BA
Saltsjdbadens BS
Kalmarsunds BK

Nynashamns BK

Stromstads BK

BK Opalen

Hassleholms BK

BK Dalom

Saltsjobadens BS
Hassleholms BK

Gamleby BK

Hassleholms Dambridgeklubb - Hassleholms BK
Hassleholms BK

BK S:t Erik

BK S:t Erik

Hassleholms BK

Hassleholms BK

Stromstads BK

Norrorts Bridge

Hassleholms BK

Norrorts Bridge

Tanums BK

BK Bjorken

Bollnas BK

Ornskoldsviks BA

BK Allians, Halmstad

Norrorts Bridge

BK Allians, Halmstad
Kalmarsunds BK

Kalmarsunds BK - Kalmar Dambridge
Varnamo BK - Bredaryds BK
Stromstads BK

Hassleholms BK

Hassleholms BK

BK Dalom

Hedemora BS

Harplinge BK - BK Allians, Halmstad
BK Bjorken

Ornskoldsviks BA

Gamleby BK

Saltsjobadens BS - BK S:t Erik
Gamleby BK

Stromstads BK

Hedemora BS - Bollnds BK
Stromstads BK

BK Opalen

BK S:t Erik

BK Bjorken

Ankarsrums Bridgeklubb - Helgenas BK
Kalmar Dambridge

Gamleby BK

Hedemora BS

BK Opalen

Gamleby BK

Stromstads BK

BK Bjorken

Nynashamns BK

Kalmar Dambridge
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178

D8 12229 30.33 Grete Elsborg - Magnus Petri

68731 68732 BK Allians, Halmstad

1 & D2
Nord v KKn1075
Ingen + KKn2
*732
4E105 #KB8643
vEB863 v4
+D83 ¢E976
#986 &EDKn
& Kn97
v D92
+ 1054
#K1054
Par Kontr Ut
L7 L9 44 0-2 2
J8 J5 44 O-2 w2
D11 D3 44 Q-2 v2
D12 D15 44 O-2 ¥2
N15 N2 44 O-2 #4
D16 D8 44 O-2 v2
F16 F8 44 O-2 2
L16 L8 44 O-2 &4
11 14 34 O-1 &5
H2 H4 44 O-1 &5
12 13 44 O-1 &5
K2 K11 44 O-1
B3 B1ll 44 O-1 45
C3 C2 44 O-1 #4
E3 E10 44 O-1 #4
H3 H6 44 O-1 a7
B4 B6 44 O-1 vQ
A6 A5 44 O-1 ¢4
F6 F14 44 O-1 2
F7 F9 44 O-1 &5
K8 K6 44 O-1
B9 B10 44 O-1 ¢3
E9 E4 44 0O-1 v2
J9 J4 44 O-1 &5
K10 K5 44 O-1
E1l E2 44 O-1 T
J11  J2 44 O-1 #2
L11 L3 44 O-1 2
M1l M4 44 O-1 T
N11 N6 44 O-1 a7
G12 G11 44 O-1 2
L12 L15 44 O-1 ¥2
L13 L1 44 O-1 &4
M13 M2 44 O-1 ¥2
N13 N4 44 O-1 w2
M14 M1 44 O-1 &4
G15 G2 44 O-1 T
D18 D10 44 O-1 v2
F19 F2 44 O-1 43
F20 F5 44 O-1 2
G6 G16 24 O= v2
K7 K12 24 O=
H9 H1 24 V= v2
H10 H5 24 O= v5
L18 L10 24 O= ¢9
F4 F17 2NO= %4
F11 F3 INV+l1 vJ
G13 G1 2NV= vT
K4 K3 24 O+1
D6 D14 24 O+1 &5
M6 M9 24 O+1 #2
A7 A3 24 O+1 &5
D7 D9 34 O= v2
N16 N1 24 O+1 v2
F18 F10 24 O+1 T
M3 M12 34 O+1 ¥2
L6 L14 24 O+2 T
N7 N10 34 O+1 vQ
N8 N9 24 O+2 &4
G10 G5 34 O+1 a7
L20 L5 24 O+2 T
J12 J1 24 O+3 &7
B2 B5 44 O= ¢4
J3 J10 44 O= &5
D4 D17 44 O= &7
L4 L17 44 O= #4
16 15 44 O= &4
E7 E6 44 O= +¢5
G7 G3 44 O= ¢4
H7 H8 44 O= a7
J7  J6 44 O= a7
A8 Al 44 O= &5
E8 E5 44 O= &5
G9 G17 44 O= &5
B12 B7 44 O= T

Basta kontrakt 2 «D1095
34 O =-140 Ost v53
NS 108742
& ¢ v & NT D10
N5 46 45 46432 &K8
S546 45 vKn2 vK1076
0796 97 ¢E65 ¢93
V796297 &#E642 #K9875
& EKn7
v ED984
¢ KDKn
&Kn3
Res Poang Par Kontr Ut
100 161.0 7.0|B13 Bl 1v S+3 43
100 161.0 7.0| F7 F9 2NS+1 46
100 161.0 7.0 A6 A5 2vy S+l ¢¥2
100 161.0 7.0|J11 J2 1v S+2 43
100 161.0 7.0|L20 L5 3¢ S+1 «6
100 161.0 7.0| L4 L17 2NS= &4
100 161.0 7.0 H2 H4 1v S+1 46
100 161.0 7.0| J3 J10 1y S+1 46
50 121.0 47.0| D4 D17 1y S+1 46
50 121.0 47.0| K4 K3 1vy S+1
50 121.0 47.0| M5 M10 24 N= &7
50 121.0 47.0 16 15 1v S+1 43
50 121.0 47.0| E7 E6 1y S+1 ¢A
50 121.0 47.0| K7 K12 1v S+1
50 121.0 47.0| A8 Al 1y S+1 6
50 121.0 47.0| E8 E5 1lv S+1 a2
50 121.0 47.0| B9 B10 2vy S= 46
50 121.0 47.0|F11 F3 1y S+1 2
50 121.0 47.0|M11 M4 1y S+1 46
50 121.0 47.0|E12 E1 2vS= +A
50 121.0 47.0|F12 F15 1vy S+1 3
50 121.0 47.0|D13 D1 1v S+1 43
50 121.0 47.0|M14 M1l 1y S+1 46
50 121.0 47.0|L16 L8 1y S+1 4
50 121.0 47.0|F19 F2 1v S+1 %4
50 121.0 47.0|L19 L2 1vy S+1 3
50 121.0 47.0|F20 F5 1vy S+1 3
50 121.0 47.0 11 14 1lvS= 5
50 121.0 47.0| B2 B5 1v S= +A
50 121.0 47.0| K2 K11 1v S=
50 121.0 47.0| E3 E10 1v S= a2
50 121.0 47.0| H3 H6 1y S= 43
50 121.0 47.0| M3 M12 1vy S= ¢A
50 121.0 47.0| C4 Cl 1vS= a2
50 121.0 47.0| F4 F17 1y S= 46
50 121.0 47.0| D6 D14 1vy S= 43
50 121.0 47.0| L6 L14 1v S= 46
50 121.0 47.0| K8 K6 1v S=
50 121.0 47.0|G10 G5 1y S= &2
50 121.0 47.0|H10 H5 1v S= 3
-110  84.0 84.0(J12 J1 1vy S= 43
-110 84.0 84.0|L12 L15 1vy S= 46
-110 84.0 84.0|L13 L1 1vS= 5
-110 84.0 84.0|M13 M2 1lv S= 5
-110 84.0 84.0(Gl4 G8 1y S= &2
-120 76.0 92.0|G15 G2 1lvS= +vJ
120 76.0 92.0|F16 F8 1lvS= v2
-120 76.0 92.0|F18 F10 1v S= 5
-140 66.0 102.0 D19 D2 1v S= 46
-140 66.0 102.0| D7 D9 3#0O-1 +¢K
-140 66.0 102.0| J7 J6 3#0-1 +¢K
-140 66.0 102.0( J9 J4 3#0-1 +K
-140 66.0 102.0 | K10 K5 3#0O-1
-140 66.0 102.0(G13 G1 3#0-1 +K
-140 66.0 102.0| C3 C2 1vS-1 +5
-170  53.0 115.0| B4 B6 2vy N-1 43
-170  53.0 115.0| F6 F14 1v S-1 +A
-170 53.0 115.0| G6 G16 2v S-1 46
-170  53.0 115.0| A7 A3 1lvy S-1 6
-170  53.0 115.0( N7 N10 2v S-1 +A
-170  53.0 115.0| H9 H1l 2v S-1 3
200 46.0 122.0|(E11 E2 INS-1 &2
-420 25.0 143.0(N11 N6 2NS-1 &4
-420 25.0 143.0|G12 G11 2v S-1 46
-420 25.0 143.0|L18 L10 1v S-1 46
-420 25.0 143.0| G9 G17 34 0O0= ©vA
-420 25.0 143.0| G7 G3 INO+1 ¢K
-420 25.0 143.0 12 13 INS-2 &2
-420 25.0 143.0| B3 B11l 2vS-2 v2
-420 25.0 143.0| M6 M9 2v S-2 43
-420 25.0 143.0| H7 H8 2NS-2 &4
-420 25.0 143.0( J8 J5 INN-2 &3
-420 25.0 143.0| N8 N9 INS-2 &2
-420  25.0 143.0(L11 L3 2NS-2 &2
-420 25.0 143.0[N13 N4 3v S-2 #A

Basta kontrakt 3 & K93
34 S =140 Syd v 9842
ov + 873
& ¢ v & NT K85
N597 96 4 D876 4102
S597 96 vD10 v KKn653
08 46 47 +E5 + Kn964
V73546 &#EKN742 %106
& EKn54
vyE7
¢ KD102
D93
Res Poang Par Kontr Ut
170 168.0 0.0| C3 C2 3NO-4 &5
150 166.0 2.0|B13 B2 3¢ O-4 vA
140 163.0 5.0| D1 D15 24V -2 &3
140 163.0 5.0| L1 L15 INS+2 38
130 160.0 8.0| H3 H6 INS+2 &2
120 158.0 10.0|L11 L18 INS+2 &6
110 136.0 32.0| E1 E3 INS+1 &4
110 136.0 32.0| G1 G12 INS+1 &2
110 136.0 32.0 12 13 2NS= &4
110 136.0 32.0| B4 B12 INS+1 &2
110 136.0 32.0| K4 K3 INS+1
110 136.0 32.0| A6 A5 INN+1 v5
110 136.0 32.0| M6 M11 2NS= &7
110 136.0 32.0| K7 K12 2N S=
110 136.0 32.0| K8 K6 INS+1
110 136.0 32.0| E9 E6 INS+1 &A
110 136.0 32.0|G10 G17 INS+1 &2
110 136.0 32.0|H10 H5 INS+1 &2
110 136.0 32.0|D11 D18 INS+1 &2
110 136.0 32.0|F11 F18 INS+1 &2
110 136.0 32.0|J12 J1 INS+1 &2
110 136.0 32.0|G16 G7 INS+1 &2
110 136.0 32.0|N16 N2 INS+1 46
110 136.0 32.0|D17 D5 INS+1 &2
110 136.0 32.0| J8 J5 2¢ S+1 #A
110 136.0 32.0|M12 M5 24 S= vQ
110 136.0 32.0|N12 N7 1a S+1 +A
80 93.0 75.0( B1 B8 24V-1 &5
80 93.0 75.0 11 14 24V-1 8
80 93.0 750| M1 M3 2&#V-1 ¥9
80 93.0 750 C4 C1 24V-1 «3
80 93.0 750| L6 L20 24 V-1 &3
80 93.0 75.0| A8 Al 24 V-1 &5
80 93.0 75.0(L12 L4 24V-1 v9
80 93.0 75.0|D13 D2 24 V-1 43
80 93.0 750|F14 F7 24V-1 43
80 93.0 75.0(L17 L5 24V-1 &3
80 93.0 750|F19 F3 24V-1 8
80 93.0 75.0| H2 H4 INS= &2
80 93.0 75.0( B3 B6 INS= &2
80 93.0 750| A7 A3 INS= &2
80 93.0 75.0| E8 E7 INS= &2
80 93.0 75.0( L8 L10 INS= &4
80 93.0 75.0| D9 D16 INS= &2
80 93.0 750| G9 G14 INS= &2
80 93.0 75.0( L9 L16 INS= &4
80 93.0 75.0|B10 Bll1 INS= &2
80 93.0 75.0|K10 K5 INS=
80 93.0 75.0(J11 J2 INS= &2
50 66.0 102.0(E12 E2 INS= &2
50 66.0 102.0(F12 F4 INS= &7
50 66.0 102.0| L13 L2 INS= &A
50 66.0 102.0 (D14 D7 INS= &4
50 66.0 102.0(L14 L7 INS= &2
-100 50.0 118.0|G15 G3 INS= &2
-100 50.0 118.0| N9 NI10 14 S= +A
-100 50.0 118.0| F1 F15 INS-1 &2
-100 50.0 118.0] N1 N3 INS-1 &4
-100 50.0 118.0| K2 K11 INS-1
-100 50.0 118.0| J3 JI10 INS-1 &2
-100 50.0 118.0| E4 E11 INS-1 &4
-100 50.0 118.0| B5 B7 2NN-1 &6
-100 50.0 118.0| F6 F20 INS-1 &4
-100 50.0 118.0| N6 N13 24 S-1 +A
-100 50.0 118.0| J7 J6 INS-1 &2
-110 38.0 130.0| F8 F10 INS-1 &2
-120  36.0 132.0| N8 N11 INS-1 &4
-200 26.0 142.0| F9 F16 INS-1 &4
-200 26.0 142.0| H9 H1l 2vy N-1 3
-200 26.0 142.0(D12 D4 INS-1 &4
-200 26.0 142.0|G13 G2 INS-1 #4
-200 26.0 142.0|M14 M2 INS-1 &2
-200 26.0 142.0|(F17 F5 INS-1 &2
-200 26.0 142.0 16 15 1la V= &5
-200 26.0 142.0|L19 L3 24V= 8
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Basta kontrakt

2NT S =120
& ¢ v & NT
N7 87 88
S787 88
O6 5655
V656255
Res Poang
400 167.0 1.0
400 167.0 1.0
200 164.0 4.0
150 160.0 8.0
150 160.0 8.0
150 160.0 8.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
120 139.0 29.0
110 118.0 50.0
110 118.0 50.0
110 118.0 50.0
100 104.0 64.0
100 104.0 64.0
100 104.0 64.0
100 104.0 64.0
100 104.0 64.0
100 104.0 64.0
100 104.0 64.0
100 104.0 64.0
100 104.0 64.0
100 104.0 64.0
100 104.0 64.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
90 76.0 92.0
80 58.0 110.0
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.0
-50 40.0 128.0
-80 22.0 146.0
-90 20.0 148.0




E12 E1 44 O= ¥9 -420 25.0 143.0|D16 D8 INS-2 %2 -200  26.0 142.0| M4 M13 3¢ S-2 &#A -100 15.0 153.0
F12 F15 44 O= T -420 25.0 143.0| L7 L9 2NS-3 &2 -300 11.0 157.0| D8 D10 3NS-2 46 -100 15.0 153.0
B13 Bl 44 O= ¢4 420 250 1430(D11 D3 3vy S-3 #A -300 110 1570 G8 G4 INS-2 &2 -100 15.0 153.0
Gl4 G8 44 O= ¢T -420 25.0 143.0|B12 B7 4vS-3 #A -300 11.0 157.0(N15 N4 3NS-2 &2 -100 15.0 153.0
N14 N3 44 O= v2 -420 25.0 143.0|D12 D15 2NS-3 42 -300 11.0 157.0| H7 H8 3#V= v4 -110 6.0 162.0
D19 D2 44 O= &4 -420 25.0 143.0|N14 N3 2v S-3 #A -300 11.0 157.0| M8 M9 2v O= 2 -110 6.0 162.0
L19 L2 44 O= v2 -420 25.0 143.0|D18 D10 3v S-3 #A -300 11.0 157.0|E10 E5 2v V= 43 -110 6.0 162.0
C4 C1 44 O+1 #4  -450 2.0 166.0| E9 E4 2NN-4 &7 -400 3.0 165.0(G11 G6 3+#V= v9 -110 6.0 162.0
M5 M10 44 O+1 #4  -450 2.0 166.0 [N16 N1 3NN-4 &7 -400 3.0 165.0(D19 D3 2vy O= ¢K -110 6.0 162.0
D13 D1 44 O+1 #T  -450 2.0 166.0|N15 N2 2NS-5 46 -500 0.0 168.0| J9 J4 2vV+l 43 -140 0.0 168.0
- A2 74.7 - A2 74.7 - A2 74.7
- N12 96.7 - N12 96.7 | D6 - 94.0
- M8 68.3 - M8 68.3 - M10 103.1
B8 - 74.7 B8 - 74.7 B9 - 106.9
- K1 68.0 - K1 68.0 - Kl 68.0
- F1 70.9 - F1 70.9 - F2 77.2
- G4 108.0 - G4 108.0 |[N14 - 77.0
- D5 82.5 - D5 82.5 - G5 80.1
4 4 K10 Basta kontrakt 5 4 Kn1084 Basta kontrakt 6 4984 Basta kontrakt
Vast v KKn109532 3v N =140 Nord v EKKn104 2¢ O =-90 Ost v K953 3NT S =400
Alla + KD4 NS ¢+ Knl0 ov * K2
*4 & ¢ v & NT *Kn7 & ¢ v & NT #K1063 & ¢ v & NT
4« Kn5 « E872 N45977 4 K953 476 N6 47765 4 KDKn72 &5 N9 7 7 89
vD6 v E87 S45977 v986 vD73 S6 47765 v74 v ED1082 S96 7809
¢ EKn1086 ¢ 32 088456 + K865 ¢ ED43 07 8667 ¢ 97 ¢+Knl08654 O 4 6 5 5 4
#DKn86 #K975 V 88 46 6 *E6 #D1093 V78667 &#Kn854 &9 V46554
4 D9643 4 ED2 4~ E1063
v4 v52 v Kn6
4975 4972 + ED3
#E1032 #K8542 #ED72
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
N1 N3 3vyDN+142 930 167.0 10(Gl2 G7 24 V-3 vA 150 167.0 10| E9 E8 34DV-5 ¢K 1400 168.0 0.0
L17 L5 3vyDN+1 3 930 167.0 10(J12 J2 24 V-3 vA 150 167.0 10| 16 15 14aDV-3 ¢K 800 166.0 2.0
J12 J2 4vDN= &7 790 1640 40| K1 K7 INS+1 120 1620 60| 11 14 3NS+1 7 430 161.0 7.0
N8 N11 3vyDN= ¢3 730 1620 6.0 F6 F17 INS+1 6 120 162.0 6.0 F9 F11 3NS+1 9 430 161.0 7.0
M6 M11 4vy N= ¢2 620 160.0 8.0|F20 F7 INS+1 43 120 1620 6.0|E11 E6 3NS+1 4K 430 161.0 7.0
A7 A3 2NO-4 4 400 158.0 10.0| F4 F19 24 N= &3 110 156.0 12.0(G17 G11 3NS+1 4K 430 161.0 7.0
Jl J3 3#V-3 v5 300 153.0 150( J9 J6 24 N= &9 110 156.0 120 D1 D5 3NS= &K 400 131.0 37.0
G8 G4 4¢ V-3 #4 300 153.0 150(L15 L2 2¢vN= ¢3 110 156.0 12.0( J1 J3 3NS= 4K 400 131.0 37.0
E12 E2 44 O-3 ¥4 300 153.0 150( B2 B9 INS= 45 90 139.0 29.0( B2 B9 3NS= &K 400 131.0 37.0
D19 D3 24 O-3 v4 300 153.0 150( E2 E4 INS= &5 90 139.0 29.0( N2 N4 3NV-4 49 400 131.0 37.0
Gl G12 2NV-2 vJ 200 143.0 250 H3 H5 INS= 45 90 139.0 29.0( B4 B7 3NN= ¢T 400 131.0 37.0
E4 E11 44 0-2 v4 200 143.0 250 M5 M1 INS= 43 90 139.0 29.0( G4 G15 3NS= &K 400 131.0 37.0
E8 E7 3¢ V-2 #4 200 143.0 25.0( B6 B8 INS= &5 90 139.0 29.0( H4 H7 3NN= ¢4 400 131.0 37.0
B10 B11 54V-2 T 200 143.0 25.0| N7 N14 INS= 43 90 139.0 29.0( J4 J11 3NS= v7 400 131.0 37.0
D12 D4 5#V-2 vJ 200 143.0 25.0( J8 J7 INN= &6 90 139.0 29.0( L4 L19 3NS= «4Q 400 131.0 37.0
D17 D5 3vy N+2 43 200 143.0 250 E9 E8 INS= &5 90 139.0 29.0( A5 A3 3NS= &K 400 131.0 37.0
Bl B8 3vy N+1 #7 170 106.0 62.0(J10 J5 INS= 43 90 139.0 29.0( B5 Bl 3NS= &5 400 131.0 37.0
D1 D15 3v N+1 ¢3 170 106.0 62.0(N13 N8 INS= 43 90 139.0 29.0( N7 N14 3NS= &K 400 131.0 37.0
E1l E3 3vy N+1 ¢3 170 106.0 62.0 (G14 G10 INS= 43 90 139.0 29.0( H8 H1 3NS= ¢7 400 131.0 37.0
11 14 2¢ N+2 ¢2 170 106.0 62.0(G16 G8 INS= 43 90 139.0 290 G9 G5 3NS= 4K 400 131.0 37.0
M1 M3 2¢vy N+2 ¢3 170 106.0 62.0 (G17 G11 INS= 43 90 139.0 29.0( H9 H2 3NS= &K 400 131.0 37.0
H3 H5 3vy N+1 3 170 106.0 62.0(L18 L12 INS= ¥9 90 139.0 29.0 (D10 D16 3NS= &K 400 131.0 37.0
C4 C1 2vN+2 ¢3 170 106.0 62.0( J4 J11 3¢ O-1 ¥5 50 121.0 47.0|L10 L16 3NS= #4 400 131.0 37.0
B5 B7 2¢v N+2 42 170 106.0 62.0|(E10 E7 24 V-1 vA 50 121.0 47.0(J12 J2 3NS= &K 400 131.0 37.0
K5 K4 3v N+1 170 106.0 62.0 | F10 F16 2# O-1 ¥5 50 121.0 47.0(B13 B3 3NN= 48 400 131.0 37.0
A6 A5 3v N+1 ¢3 170 106.0 62.0(E12 E3 3¢ V-1 vA 50 121.0 47.0(G13 G3 3NS= 4K 400 131.0 37.0
F6 F20 2¢vy N+2 ¢3 170 106.0 62.0( J1 J3 Pass 99.0 69.0(M13 M6 3NS= v7 400 131.0 37.0
6 15 3y N+1 ¢3 170 106.0 62.0| L1 L5 Pass 99.0 69.0[N13 N8 3NS= &K 400 131.0 37.0
L6 L20 2¢v N+2 ¢3 170 106.0 62.0( 12 I3 Pass 99.0 690(L14 L8 3NS= 4Q 400 131.0 37.0
F8 F10 3v N+1 3 170 106.0 62.0( M2 M4 Pass 99.0 69.0(F15 F2 3NS= «4J 400 131.0 37.0
H8 H1 3v N+1 ¢3 170 106.0 62.0( C3 C2 Pass 99.0 69.0(Gl16 G8 3NS= &K 400 131.0 37.0
K8 K12 3v N+1 170 106.0 62.0| K3 K11 Pass 99.0 69.0(F18 F12 3NS= 4K 400 131.0 37.0
M8 M9 2v N+2 ¢3 170 106.0 62.0| L4 L19 Pass 99.0 690 F1 F5 3vV-3 49 300 104.0 64.0
D9 D16 2v N+2 3 170 106.0 62.0 A7 A6 Pass 99.0 69.0( J8 J7 2vV-2 ¢K 200 101.0 67.0
E9 E6 3y N+1 42 170 106.0 62.0( A8 A2 Pass 99.0 69.0(Gl12 G7 3¢DO-1 vJ 200 101.0 67.0
G9 G14 2v N+2 ¢3 170 106.0 62.0| K8 K12 Pass 99.0 69.0| H3 H5 2NS+2 4K 180 98.0 70.0
H10 H6 3v N+1 ¢3 170 106.0 62.0( G9 G5 Pass 99.0 69.0( D6 D17 2NS+1 4K 150 95.0 73.0
F11 F18 2v N+2 ¢3 170 106.0 62.0( L9 L11 Pass 99.0 69.0(M14 M3 2NS+1 9 150 95.0 73.0
L12 L4 2v N+2 &5 170 106.0 62.0 | M9 M10 Pass 99.0 69.0( K3 K11 2NS= 120 90.0 78.0
M12 M5 3v N+1 2 170 106.0 62.0 (B13 B3 Pass 99.0 69.0(B11 B12 2NS= &4 120 90.0 78.0
G13 G2 3vy N+1 &5 170 106.0 62.0 (D13 D3 Pass 99.0 69.0(D13 D3 2NS= ¢9 120 90.0 78.0
L13 L2 2¢y N+2 ¢2 170 106.0 62.0 | F14 F8 Pass 99.0 69.0( K1 K7 3NS-1 -50 63.0 105.0
F14 F7 2v N+2 43 170 106.0 62.0 | F15 F2 Pass 99.0 69.0( L1 L5 3NS-1 K -50 63.0 105.0
G15 G3 3vy N+1 43 170 106.0 62.0 [N16 N3 Pass 99.0 690 E2 E4 3NS-1 &K -50 63.0 105.0
Gl6 G7 3y N+1 47 170 106.0 62.0[(E11 E6 INO= ¥5 -90 80.0 88.0| G2 Gl 2NN-1 ¢J -50 63.0 105.0
N16 N2 2¢y N+2 ¢2 170 106.0 62.0( D1 D5 INS-1 ¥9 -100 58.0 110.0| C4 C1 3NS-1 «K -50 63.0 105.0
F19 F3 2¢v N+2 ¢3 170 106.0 62.0| 11 14 INS-1 3 -100 58.0 110.0| F4 F19 3NS-1 &K -50 63.0 105.0
12 13 2¢ N+1 43 140 59.0 109.0f G2 G1 INS-1 43 -100 58.0 110.0| E5 E1 3NS-1 4 -50 63.0 105.0
B3 B6 3y N= &A 140 59.0 109.0 N2 N4 INS-1 45 -100 58.0 110.0| K5 K4 3NS-1 -50 63.0 105.0
K3 K11 3v N= 140 59.0 109.0( D4 D19 INS-1 43 -100 58.0 1100| M5 M1 3NS-1 &K -50 63.0 105.0
B4 B12 3vy N= ¢3 140 59.0 109. B5 Bl INS-1 45 -100 580 1100 B6 B8 3NN-1 ¢J -50 63.0 105.0
H4 H7 3v N= ¢3 140 59.0 109.0( E5 E1 INS-1 43 -100 58.0 110.0| F6 F17 3NS-1 &K -50 63.0 105.0
J4 J11 2v N+1 «4 140 59.0 109.0( 16 15 INS-1 45 -100 58.0 1100| A8 A2 3NS-1 &K -50 63.0 105.0
M4 M13 2v N+1 «A 140 59.0 109.0( H8 H1 INS-1 43 -100 58.0 110.0| K8 K12 3# N-1 -50 63.0 105.0
N6 N13 2v N+1 3 140 59.0 109.0 [ M8 M11 24 N-1 &3 -100 58.0 110.0| M8 M11 3NS-1 7 -50 63.0 105.0
H9 H2 3y N= &7 140 59.0 109.0( D9 D11 INS-1 43 -100 58.0 110.0| J9 J6 3NS-1 +v7 -50 63.0 105.0
L9 L16 2v N+1 &5 140 59.0 109.0( F9 F11 24 N-1 &3 -100 58.0 110.0|F10 F16 3NS-1 4Q -50 63.0 105.0
N9 N10 3v N= ¢3 140 59.0 109.0 (D10 D16 INS-1 43 -100 58.0 110.0|H10 H6 3NS-1 &K -50 63.0 105.0
G10 G17 3y N= ¢2 140 59.0 109.0 [H10 H6 INS-1 ¥6 -100 58.0 110.0|J10 J5 3NS-1 +¢9 -50 63.0 105.0
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D11 D18 3y N= 3 140 59.0 109.0 [ L10 L16 2v N-1 #3 -100 58.0 110.0 [N10 N11 3NN-1 ¢6 -50 63.0 105.0
L11 L18 2v N+1 ¢3 140 59.0 109.0 ([N10 N11 INS-1 &3 -100 58.0 110.0(E12 E3 3NS-1 &K -50 63.0 105.0
F12 F4 2v N+1 ¢2 140 59.0 109.0 (B11 B12 INS-1 45 -100 58.0 110.0[N15 N6 2NS-1 #7 -50 63.0 105.0
D13 D2 2y N+1 3 140 59.0 109.0 (D14 D8 INS-1 &3 -100 58.0 110.0[N16 N3 3NS-1 &K -50 63.0 105.0
K1 K7 2vy N= 110 40.0 128.0(L14 L8 INS-1 3 -100 58.0 110.0| L18 L12 3NS-1 9 -50 63.0 105.0
E1I0 E5 2v N= ¢33 110 40.0 128.0 (M14 M3 2v N-1 &7 -100 58.0 110.0|F20 F7 24 S-1 +v4 -50 63.0 105.0
L14 L7 2» N= ¢3 110 40.0 128.0 [ F18 F12 3v N-1 +¢A -100 58.0 110.0 12 13 3NS-2 &K -100  24.0 144.0
C3 C2 4+#V-1 ¢4 100 31.0 137.0|M13 M6 2NO= &2 -120 35.0 133.0( M2 M4 24 S-2 v7 -100  24.0 144.0
L8 L10 44 O-1 4 100 31.0 137.0(L20 L7 INO+1 &4 -120  35.0 133.0| C3 C2 34 S-2 7 -100 24.0 144.0
F9 F16 4&V-1 &4 100 31.0 137.0| K5 K4 3¢ V+1 -130  31.0 137.0| D4 D19 3NN-2 ¢J -100  24.0 144.0
K10 K6 4# V-1 100 31.0 137.0| D6 D17 3¢ V+1 vA -130 31.0 137.0| L6 L17 2NS-2 7 -100  24.0 144.0
N12 N7 3&#0-1 v4 100 31.0 137.0( F1 F5 INS-2 &5 -200 20.0 148.0| D9 D11 3NS-2 &K -100 24.0 144.0
B13 B2 3#V-1 &K 100 31.0 137.0( B4 B7 INS-2 &3 -200 20.0 148.0| L9 L11 3NS-2 &K -100  24.0 144.0
F1 F15 3y N-1 3 -100 19.0 149.0| A5 A3 INS-2 3 -200  20.0 148.0|E10 E7 3 N-2 ¢J -100  24.0 144.0
L1 L15 4v N-1 &5 -100  19.0 149.0| L6 L17 2NS-2 5 -200 20.0 148.0|L13 L3 3NS-2 &K -100 24.0 144.0
J1I0 J5 4vy N-1 ¢3 -100 19.0 149.0| H9 H2 INS-2 &5 -200 20.0 148.0(D14 D8 3NN-2 ¢2 -100  24.0 144.0
Gll G6 3vy N-1 &5 -100 19.0 149.0 (K10 K6 1INS-2 -200 20.0 148.0(F14 F8 3NS-2 &K -100  24.0 144.0
D14 D7 3v N-1 ¢3 -100 19.0 149.0|G13 G3 24 N-2 3 -200 20.0 148.0|G14 G10 3NS-2 +9 -100  24.0 144.0
M14 M2 3v N-1 ¢2 -100 19.0 149.0( L13 L3 24 S-2 &A -200 20.0 148.0(L15 L2 3NS-2 &K -100  24.0 144.0
D8 D10 3& V= v9 -110  11.0 157.0|D18 D12 INS-2 &5 -200  20.0 148.0|(D18 D12 3NS-2 9 -100  24.0 144.0
J8 J7 3aV-= vT -110 11.0 157.0| C4 C1 24 N-3 &7 -300 7.0 161.0|L20 L7 3NS-2 +¢9 -100 24.0 144.0
F17 F5 4 V= +K -130 8.0 160.0( G4 G15 2NS-3 +5 -300 7.0 161.0( A7 A6 44 N-3 &5 -150 7.0 161.0
A8 Al 3vyDN-1 ¢3 -200 4.0 164.0| H4 H7 INS-3 43 -300 7.0 161.0 | K1I0 K6 3NS-3 -150 7.0 161.0
N15 N4 3vyDN-1 ¢3 -200 4.0 164.0|N15 N6 24 N-3 &7 -300 7.0 161.0| M9 M10 6NS-4 &K -200 4.0 164.0
L19 L3 4vyDN-1 &5 -200 4.0 164.0| N9 N12 INS-4 &5 -400 1.0 167.0 (D15 D2 34DS-2 ¢9 -300 2.0 166.0
J9 J6 54V= +K -600 0.0 168.0 (D15 D2 INS-4 &3 -400 1.0 167.0| N9 N12 2¢vDO= 43 -670 0.0 168.0
- A2 747 Al - 87.7 Al - 87.7
D6 - 94.0 N1 - 81.5 N1 - 81.5
- M10 103.1| G6 - 99.1 G6 - 99.1
B9 - 106.9 - M12 81.1 - M12 81.1
- K2 84.0 - K2 84.0 - K2 84.0
- F2 77.2 - F3 84.3 - F3 84.3
N14 - 77.0 - B10 68.5 - B10 68.5
- G5 80.1 - D7 88.2 - D7 88.2
7 4 D102 Basta kontrakt 8 & EKn653 Basta kontrakt 9 & EK1097 Basta kontrakt
Syd v 385 34 V =-140 Vast v ED986 54 N =450 Nord v9 64 N =920
Alla ¢ E4 Ingen +43 ov + K65
#KKnb5432 & ¢ v & NT &4 & ¢ v & NT &#KKn104 & ¢ v & NT
& EKNn9 & K8653 N8 6 445 41042 &K8 N8 8 8 118 a5 & Kn642 N 128 5 1110
v EK1073 v D96 S86 445 vK7543 vKnl0 S 7 8 8 108 vKKn1085 v D732 S 128 5 1110
+ K105 ¢ Kn92 O57 996 ¢ K107 + DKn82 O55 42 4 + ED10 49872 015822
&76 D10 V57996 »K3 &#Knl10762 V 5 5 4 2 4 #8752 &D V15822
a74 « D97 « D83
v Kn42 v2 v E64
+ D8763 + E965 ¢+ Kn43
&E98 &ED985 &E963
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
I1 13 3NV-3 &3 300 166.0 2.0| F8 F20 44 N+2 ¢Q 480 1670 10| E1 E9 5¢vDV-2 «A 500 168.0 0.0
C3 C2 3NV-3 #2 300 166.0 2.0|F15 F3 44 N+2 ¥J 480 167.0 1.0|L11 L1 44 N+2 8 480 166.0 2.0
C4 C1 3NV-3 #2 300 166.0 2.0| D1 D18 44 N+1 ¢Q 450 149.0 19.0| A1l A7 44 N+1 &Q 450 154.0 14.0
J5 J1 2NV-2 &5 200 159.0 9.0| G1 G8 44 N+1 ¢Q 450 149.0 19.0 11 I3 44 N+1 #Q 450 154.0 14.0
K6 K5 2NV-2 200 159.0 9.0| D2 D6 44 N+1 *J 450 149.0 19.0| D3 D7 44 N+1 &Q 450 154.0 14.0
M6 M2 4v V-2 8 200 1590 9.0| H5 H8 44 N+1 ¢Q 450 149.0 19.0| N3 N7 44 N+1 &Q 450 154.0 14.0
M9 M12 4v O-2 &9 200 159.0 9.0 I5 14 44 N+1 &J 450 149.0 19.0| D6 D19 44 N+1 9 450 154.0 14.0
Gl G8 4vV-1 ¢A 100 138.0 30.0| L7 L17 44 N+1 T 450 149.0 19.0|J12 J3 44 N+1 3 450 154.0 14.0
H1 H2 4v O-1 ¢A 100 138.0 30.0| A8 A2 44 N+1 vJ 450 149.0 19.0|G14 G12 44 N+1 &Q 450 154.0 14.0
K2 K8 1INV-1 100 138.0 30.0|J10 J7 44 N+1 vJ 450 149.0 19.0|M14 M5 44 N+1 &Q 450 154.0 14.0
E3 E5 4v V-1 +A 100 138.0 30.0| L10 L12 44 N+1 *J 450 149.0 19.0|D15 D4 44 N+1 9 450 154.0 14.0
L7 L17 3v V-1 &3 100 138.0 30.0|B12 Bl 44 N+1 &J 450 149.0 19.0|F15 F4 44 N+1 &Q 450 154.0 14.0
F10 F12 3v V-1 &5 100 138.0 30.0|J12 J3 4vy N+1 2 450 149.0 19.0|D17 D8 44 N+1 &Q 450 154.0 14.0
N10 N13 4v V-1 ¢A 100 138.0 30.0|N14 N9 44 N+1 *J 450 149.0 19.0| B1 B2 44 N= 9 420 94.0 74.0
J11 J6 44 V-1 &3 100 138.0 30.0|D15 D3 44 N+1 ¥J 450 149.0 19.0| A2 A5 44 N= &Q 420 94.0 74.0
J12 J3 3v V-1 ¢A 100 138.0 30.0(F16 F11 44 N+1 «J 450 149.0 19.0| D2 D18 44 N= &Q 420 94.0 74.0
D13 D4 4v V-1 ¢A 100 138.0 30.0|D19 D5 44 N+1 #J 450 149.0 19.0| G2 G9 44 N= &Q 420 94.0 74.0
L13 L4 4v V-1 +A 100 138.0 30.0|L19 L5 44 N+1 ¢J 450 149.0 19.0| K2 K8 44 N= 420 94.0 74.0
N14 N9 4v V-1 ¢A 100 138.0 30.0| H1I H2 44 N= &J 420 100.0 68.0( L2 L18 44 N= #Q 420 94.0 74.0
F15 F3 3vV-1 +A 100 138.0 30.0 11 13 44 N= ¢8 420 100.0 68.0| F3 F7 44 N= &Q 420 94.0 74.0
G15 G5 4v V-1 ¢A 100 138.0 30.0| L1 L18 44 N= T 420 100.0 68.0| L3 L7 44 N= &Q 420 94.0 74.0
L15 L3 44 O-1 &A 100 138.0 30.0f N1 N7 44 N= &6 420 100.0 68.0| B4 Bll 44 N= &Q 420 94.0 74.0
D16 D11 44 O-1 &A 100 138.0 30.0| J2 J4 44 N= vJ 420 100.0 68.0| E4 E6 44 S= &Q 420 94.0 74.0
Gl6 G9 4v V-1 ¢A 100 138.0 30.0| B3 B10 44 N= ¢J 420 100.0 68.0| G4 G3 44 N= &Q 420 94.0 74.0
A8 A2 264 N= v6 90 120.0 48.0( E3 E5 44 N= &6 420 1000 68.0( H4 H6 44 N= #Q 420 94.0 74.0
F7 F17 4#N-1 v6 -100 117.0 51.0( M3 M5 44 N= vJ 420 100.0 68.0| M4 M6 44 N= &Q 420 94.0 74.0
K1l K4 3« N-1 -100 117.0 51.0( H4 H6 44 N= vJ 420 100.0 68.0] N4 N6 44 N= &Q 420 94.0 74.0
G3 G2 2vV= *A -110 113.0 55.0( A5 A3 44 N= vJ 420 100.0 68.0 I5 14 44 N= &Q 420 94.0 74.0
D19 D5 24 O= 46 -110 113.0 55.0( B5 B8 44 S= ¢7 420 100.0 68.0| B6 B9 44 N= 9 420 94.0 74.0
D1 D18 3v V= &3 -140 81.0 87.0| B6 B2 44 N= +Q 420 100.0 68.0| K6 K5 44 N= 420 94.0 74.0
L1 L18 3v V= *A -140 81.0 87.0| E6 E2 44 N= vJ 420 100.0 68.0| L6 L19 44 N= 8 420 94.0 74.0
F2 F6 2vV+1 +¢A -140 81.0 87.0( B7 B9 44 N= &J 420 100.0 68.0| B7 B3 44 N= &Q 420 94.0 74.0
L2 L6 2v V+1 ¢A -140 81.0 87.0( N8 N15 44 N= #J 420 100.0 68.0| E7 E3 44 N= &Q 420 94.0 74.0
B3 B10 2v V+1 +A -140 810 87.0| H9 H3 44 N= ¢Q 420 100.0 68.0( A8 A3 44 N= v2 420 94.0 74.0
M3 M5 3v V= ¢A -140 81.0 87.0(D10 D12 44 N= #J 420 100.0 68.0] H9 H3 44 N= 8 420 94.0 74.0
A5 A3 24 V+1 &A -140 810 87.0[{E10 E9 44 N= ¢J 420 100.0 68.0|G10 G16 44 N= ¢3 420 94.0 74.0
5 14 2vO0+1 +A -140 81.0 87.0({H10 H7 44 N= vJ 420 100.0 68.0(H10 H7 44 N= #Q 420 94.0 74.0
B6 B2 24 O+1 3 -140 81.0 87.0(M10 M11 44 N= ¢2 420 100.0 68.0 | K10 K7 44 N= 420 94.0 74.0
E6 E2 3vO= +¢A -140 81.0 87.0[N10 N13 44 N= #J 420 100.0 68.0 |M10 M13 44 N= ¢2 420 94.0 74.0
D7 D17 3v V= *A -140 81.0 87.0(E11 E8 44 N= vJ 420 100.0 68.0(D11 D1 44 N= ¥3 420 94.0 74.0
F8 F20 2v V+1 +A -140 810 87.0(K1l1 K4 44 N= 420 100.0 68.0|E11 E10 44 N= &Q 420 94.0 74.0
L8 L20 2v V+1 &J -140 81.0 87.0(N11 N12 44 N= vJ 420 100.0 68.0|F11 F1 44 N= &Q 420 94.0 74.0
N8 N15 3v V= *A -140 81.0 87.0|B13 B4 44 S= 43 420 100.0 68.0(Gl1 G7 44 N= #Q 420 94.0 74.0
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J9 J8 3vV= ¢A -140 810 87.0|/D13 D4 44 N= &#J 420 100.0 68.0(J11 J6 44 N= ¢9 420 94.0 74.0
D10 D12 3v V= v8 -140 810 87.0(D14 D9 44 N= &#J 420 100.0 68.0 [N11 N14 44 N= &Q 420 94.0 74.0
E10 E9 2vV+l1 ¢A -140 81.0 87.0|G1l4 G11 44 N= ¢8 420 100.0 68.0 [N12 N13 44 N= ¢9 420 94.0 74.0
G10 G6 2y V+1 ¢A -140 810 87.0|L14 L9 44 N= +Q 420 100.0 68.0(B13 B5 44 N= ¢7 420 94.0 74.0
J10 J7 24 O+1 ¥2 -140 81.0 87.0|D16 D11 44 N= vJ 420 100.0 68.0(D13 D5 44 N= ¢9 420 94.0 74.0
M10 M11 2v V+1 A -140 81.0 87.0(G16 G9 44 N= ¢8 420 100.0 68.0(G13 G5 44 N= ¢9 420 94.0 74.0
N11 N12 3v V= &4 -140 810 87.0|L16 L11 44 N= ¢Q 420 100.0 68.0(L13 L5 44 N= &Q 420 94.0 74.0
E12 E4 3vV= ¢A -140 81.0 87.0|G1l7 G12 44 N= vJ 420 100.0 68.0 (D14 D10 44 N= ¢9 420 94.0 74.0
Gl4 G11 3vV= ¢A -140 810 87.0| F2 F6 3NS= 42 400 64.0 104.0 | L14 L10 44 N= 2 420 94.0 74.0
M14 M4 3vy V= ¢A -140 81.0 87.0| L2 L6 3NS= T 400 64.0 104.0|G15 G6 44 N= v2 420 94.0 74.0
D15 D3 3vV= ¢A -140 810 870|F14 F9 3NS= 3 400 64.0 104.0| L15 L4 464 N= #Q 420 94.0 74.0
F16 F11 3vV= &4 -140 810 87.0|F19 F5 2NS+3 42 210 60.0 108.0 IN15 N10 44 N= #Q 420 94.0 74.0
L16 L11 34 O= &A -140 81.0 87.0| E1 E7 3« N+1 ¥J 170 57.0 111.0 [ F16 F12 44 N= &Q 420 94.0 74.0
G17 G12 3v V= ¢A -140 810 87.0| K6 K5 24 N+2 170 57.0 111.0 | L16 L12 44 N= &Q 420 94.0 74.0
F19 F5 3vV= &4 -140 810 87.0|M14 M4 34 N= ¢Q 140 54.0 1140 (F17 F8 44 N= &A 420 94.0 74.0
L19 L5 3vV= &A -140 810 87.0| C4 Cl1 2NS= T 120 52.0 116.0 [G17 G1 44 N= &Q 420 94.0 74.0

B5 B8 3vV+l ¢A -170 450 123.0| 16 12 Pass 50.0 118.0( L17 L8 44 N= &Q 420 94.0 74.0
M8 M13 3v V+1 ¢A -170 45.0 1230| F1 F18 44 N-1 +¢Q -50 31.0 137.0|F20 F9 44 N= &#Q 420 94.0 74.0
K10 K7 2v V+2 -170 45.0 123.0| K1 K12 44 N-1 -50 31.0 137.0|L20 L9 44 N= #Q 420 94.0 74.0
L10 L12 3y V+1 ¢A -170 45.0 123.0| G3 G2 3NS-1 +7 -50 31.0 137.0| K1 K12 24 N +2 170 43.0 125.0
F14 F9 3vV+l1 &4 -170 450 123.0| J5 J1 44 N-1 ¢Q -50 31.0 137.0| N2 N8 34 N+1 #Q 170 43.0 125.0
L14 L9 3vyV+1l &3 -170 45.0 123.0| M6 M2 44 N-1 48 -50 31.0 137.0| J5 Jl 3#S+2 45 150 40.0 128.0

H5 H8 2NV +2 &3 -180 38.0 130.0| D7 D17 44 N-1 vJ -50 31.0 137.0| N9 N1 24 N+1 9 140 38.0 130.0

F1 F18 2vV+3 ¢A -200 30.0 138.0| L8 L20 44 N-1 vJ -50 31.0 137.0| C4 C2 3&#S+1 &5 130 35.0 133.0

N1 N7 3vV+2 ¢A -200 30.0 138.0| M8 M13 44 N-1 +¢2 -50 31.0 137.0| J9 J8 3#S+1 45 130 35.0 133.0

B7 B9 2vV+3 ¥5 -200 30.0 1380 J9 J8 44 N-1 ¥J -50 31.0 137.0|D16 D12 24 N= 3 110 32.0 136.0

H9 H3 24 V+3 ¢8 -200 30.0 138.0| M9 M12 3NN-1 +¢2 -50 31.0 137.0| C1 C3 44 N-1 2 -50 16.0 152.0
E11 E8 34 V+2 8 -200 30.0 138.0|F10 F12 44 N-1 vJ -50 31.0 137.0| H1 H2 64 S-1 45 -50 16.0 152.0
B12 Bl 24 O+3 ¢3 -200 30.0 138.0|{G10 G6 44 N-1 +Q -50 31.0 137.0| E2 E8 44 N-1 +v3 -50 16.0 152.0
D14 D9 2v V+3 ¢A -200 30.0 138.0 K10 K7 44 N-1 -50 31.0 137.0| F2 F18 44 N-1 2 -50 16.0 152.0
B13 B4 3v V+3 43 -230 22.0 146.0|J11 J6 44 N-1 &J -50 31.0 137.0| J2 J4 44 N-1 +v3 -50 16.0 152.0

K1 K12 44 V= -620 18.0 150.0 |E12 E4 3NS-1 3 -50 31.0 137.0| M2 M8 44 N-1 ¢9 -50 16.0 152.0

J2 J4 44 V= v8 -620 180 150.0|G13 G4 44 N-1 vJ -50 31.0 137.0| H5 H8 44 N-1 #Q -50 16.0 152.0

N2 N6 44 V= ¢A -620 18.0 150.0|G15 G5 3NS-1 3 -50 31.0 137.0| F6 F19 44 N-1 #2 -50 16.0 152.0

D2 D6 4vV+1l ¥8 -650 8.0 160.0 [N16 N4 3NS-1 &T -50 31.0 137.0| 16 12 44 N-1 #2 -50 16.0 152.0

H4 H6 44 V+1 ¢A  -650 8.0 160.0| K2 K8 44 N-2 -100 7.0 161.0| B8 B10 44 N-1 3 -50 16.0 152.0

6 12 4vV+1 ¢A -650 8.0 160.0| N2 N6 44 N-2 ¢2 -100 7.0 161.0| M9 M1 44 N-1 2 -50 16.0 152.0

A7 A6 44 V+1l ¢A  -650 8.0 160.0| C3 C2 2¢ S-2 3 -100 7.0 161.0|J10 J7 44 N-1 3 -50 16.0 152.0
H10 H7 44 V+1 v8  -650 8.0 160.0| A7 A6 44 N-2 ¢Q -100 7.0 161.0 |M11 M12 44 N-1 +9 -50 16.0 152.0
G13 G4 4vV+1l ¢A -650 8.0 160.0| F7 F17 44 N-2 & -100 7.0 161.0|E12 E5 44 N-1 #Q -50 16.0 152.0
N16 N4 44 V+1 v8  -650 8.0 160.0|L15 L3 44 N-2 ¢Q -100 7.0 161.0 | F14 F10 44 N-1 #Q -50 16.0 152.0

E1 E7 5#4DN-4 v6 -1100 0.0 168.0|L13 L4 4v N-3 T -150 0.0 168.0 | K11 K4 44 N-2 -100 0.0 168.0

Al - 87.7 Al - 87.7 A6 - 106.7
M1 - 90.5 M1 - 90.5 - M3 88.2

N3 - 108.0 N3 - 108.0 - K3 90.0
G7 - 55.3 G7 - 55.3 B12 - 63.7

D8 - 51.0 D8 - 51.0 - F5 90.4

- K3 90.0 - K3 90.0 |N16 - 61.8
- F4 85.0 - F4 85.0 - G8 83.0
- Bl11 86.3 - Bl11 86.3 - D9 88.1
10 4 Kn103 Basta kontrakt 11 4102 Basta kontrakt 12 .- Basta kontrakt
Ost v EKn10987 3v S =140 Syd v 9654 5¢ V =-400 Vast v KD1098652 3v N =140
Alla ¢- Ingen +10 NS 97
#EKKNn6 & ¢ v & NT #1096542 & ¢ v & NT #1087 & ¢ v & NT
4 EK62 4D54 N9 9977 4D943  &K7 N52 86 3 4K976 4 Kn53 N659 66
v5432 vK6 S99977 v D82 vK S52863 vEKn43 7 S65966
4932 ¢ E876 034455 ¢ ED975 ¢ 86432 08 115 7 9 +D3 ¢ EKn862 06 6 477
105 49874 V34456 *8 #EKD73 vV 8 115 7 9 #954 #ED62 V66477
#9087 & EKn865 « ED10842
vD v EKn1073 v-
+ KDKn1054 ¢ KKn + K1054
D32 &Kn #KKn3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

I5 14 4v N+1 ¢A 650 168.0 0.0(J11 J8 4v S= &8 420 168.0 0.0({G12 G8 5¢DO-5 4A 1100 168.0 0.0

F6 F19 3NS+1 &T 630 166.0 2.0| E2 E10 6¢DV-2 v9 300 166.0 2.0| B5 B12 34DV-4 vK 800 165.0 3.0
G4 G3 4vy N= #8 620 163.0 50| H6 H1 540-3 4A 150 1640 4.0(B13 B6 4¢DO-4 4A 800 165.0 3.0
L20 L9 4v N= ¢A 620 163.0 50| A1l A7 2v S+1 &8 140 153.0 150| E8 E4 3vDN= 43 730 160.0 8.0

D3 D7 3NN= 44 600 159.0 9.0 K3 K1 2vS+1 140 153.0 15.0(J12 J4 3vDN= 43 730 160.0 8.0

E4 E6 3NS= &A 600 159.0 90| D4 D8 2v S+1 &8 140 153.0 150(L12 L2 3vDN= &2 730 160.0 8.0
Gll1 G7 3vy N+3 ¢A 230 155.0 13.0( N4 N8 2v S+1 &8 140 153.0 150 C1 C3 4v N= &2 620 153.0 15.0
F14 F10 2v N+4 ¢A 230 155.0 13.0( B7 B10 2v S+1 &8 140 153.0 15.0(H10 H8 4v N= 43 620 153.0 15.0

C4 C2 2vN+2 44 170 149.0 19.0(H10 H8 2v S+1 &8 140 153.0 15.0(K10 K8 4v N= 620 153.0 15.0

B7 B3 1lvy N+3 46 170 149.0 19.0 (K10 K8 2v S+1 140 153.0 15.0(L10 L20 4v N= 7 620 153.0 15.0
L15 L4 2v N+2 6 170 149.0 19.0(L10 L20 2v S+1 &8 140 153.0 15.0|(F10 F20 34DV-3 vK 500 148.0 20.0
L17 L8 3v N+1 vK 170 149.0 19.0(F14 F11 3v S= &8 140 153.0 15.0|F15 F5 5#V-6 vK 300 146.0 22.0

Al A7 2v N+1 «4 140 1140 540(F19 F7 3vS= &8 140 153.0 15.0| E2 E10 4¢ O-4 4A 200 142.0 26.0

E1l E9 2¢v N+1 &9 140 114.0 54.0( K7 K6 2v S= 110 136.0 32.0| H2 H3 5#V-4 vK 200 142.0 26.0

A2 A5 2v N+1 &5 140 1140 54.0(J10 J9 2vS= &8 110 136.0 32.0(L16 L1 4¢ O-4 ¢4 200 142.0 26.0

E2 E8 3vy N= 44 140 114.0 54.0(M10 M2 2v S= &8 110 136.0 320 A1 A7 3v N+1 44 170 137.0 31.0

F2 F18 2v N+1 &9 140 114.0 54.0(B13 B6 2v S= &8 110 136.0 32.0( B9 B1l 3v N+1 43 170 137.0 31.0
G2 G9 3vy N= &9 140 1140 54.0(D13 D6 2v S= &8 110 136.0 32.0( K3 K1 34 V-3 150 134.0 34.0

L2 L18 2v N+1 #8 140 114.0 54.0(N13 N14 2v S= &8 110 136.0 32.0| E1 E11 3v N= ¢A 140 120.0 48.0
M2 M8 2v N+1 &9 140 114.0 54.0(D16 D1 2v S= &8 110 136.0 32.0( N1 N11 3v N= 43 140 120.0 48.0

F3 F7 2v N+1 &7 140 1140 54.0( B2 B3 5¢DV-1 T 100 128.0 40.0| G2 G17 3v N= ¢A 140 120.0 48.0

J3 J5 2¢v N+1 «4 140 114.0 540 C1 C3 14 S= &8 80 126.0 420| H5 H7 3v N= 43 140 120.0 48.0

L3 L7 2¢v N+1 &7 140 1140 54.0| N3 N9 5¢ V-1 42 50 121.0 470 H6 H1 3v N= 7 140 120.0 48.0

N3 N7 2v N+1 &8 140 1140 54.0( B5 B12 3#O0-1 4A 50 121.0 470| K7 K6 3v N= 140 120.0 48.0
M4 M6 2v N+1 &9 140 1140 540 G5 G4 5¢ V-1 T 50 121.0 470| B8 B4 3v N= ¢A 140 120.0 48.0

H5 H7 2v N+1 &9 140 114.0 54.0(D14 D11 6¢ V-1 «T 50 121.0 47.0(N12 N15 3v N= 7 140 120.0 48.0

16 12 3y N= 4Q 140 1140 540| L4 L8 2vS-1 &8 -50 109.0 59.0|F14 F11 3v¥y N= ¢A 140 120.0 48.0
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J6 J2 3v N= &7 140 1140 54.0| I5 14 4vS-1 +A -50 109.0 59.0|G16 G11 3v N= ¢A 140 120.0 48.0
H9 H4 3y N= #9 140 1140 54.0| 16 12 4v S-1 48 -50 109.0 59.0|F18 F3 3v N= 43 140 120.0 48.0
N9 N1 2¢vy N+1 #9 140 1140 54.0|F10 F20 4v S-1 #8 -50 109.0 59.0|L18 L3 3¥y N= &5 140 120.0 48.0
JI0 J9 3y N= 44 140 1140 540(N10 N2 3v S-1 8 -50 109.0 59.0|D19 D7 3v N= 45 140 120.0 48.0
M10 M13 2v N+1 ¢A 140 1140 54.0|K11 K5 3v S-1 -50 109.0 59.0| E5 E7 3#V-2 ¢K 100 1050 63.0
Jil1 J8 2v N+1 #9 140 1140 54.0(M12 M13 14 S-1 #8 -50 109.0 59.0|D17 D9 3NV-2 vK 100 105.0 63.0
Ji12 J4 29y N+1 44 140 1140 540(F18 F3 3vy S-1 48 -50 109.0 59.0|D12 D2 4¢ O-1 45 50 101.0 67.0
N12 N13 2v N+1 #9 140 1140 54.0| J6 J2 4vDS-1 #8 -100 99.0 69.0|L14 L11 2NV-1 ¢K 50 101.0 67.0
D13 D5 2vy N+1 #9 140 1140 540|M14 M6 3v S-2 #8 -100 99.0 69.0| 11 I3 4vN-1 43 -100 810 87.0
L13 L5 3y N= 44 140 1140 540 C4 C2 4e¢ V= T -130 910 770| J1 J7 4¢yN-1 43 -100 810 870
L14 L10 3y N= &5 140 1140 540 E8 E4 4e¢ V= 4T -130 910 770 M3 M9 4vy N-1 #A -100 81.0 87.0
D15 D4 3y N= #9 140 1140 540|E12 E6 4¢ V= v4 -130 91.0 770 N3 N9 4v N-1 «A -100 810 87.0
D16 D12 3y N= 44 140 1140 54.0|F16 F1 3¢ V+1 42 -130 91.0 770 N4 N8 4v N-1 &6 -100 810 87.0
L16 L12 2¢ N+1 44 140 1140 540(F17 F9 4e¢ V= 4T -130 910 770| 15 14 4y N-1 ¢A -100 810 87.0
F17 F8 3y N= 49 140 1140 54.0|D18 D3 3¢ V+1 4T -130 910 770 16 12 4y N-1 A -100 810 87.0
F20 F9 2vy N+1 #9 140 1140 54.0| G2 G17 4¢ V+1 T -150 76.0 92.0| J6 J2 4v N-1 43 -100 81.0 87.0
M14 M5 3#N+1 ¢A 130 82.0 86.0| G3 G10 3¢ V+2 T -150 76.0 92.0| B7 B10 4v N-1 #A -100 81.0 87.0
L6 L19 2NS= &K 120 80.0 88.0|F12 F2 4vS-3 #8 -150 76.0 920 A8 A3 4v N-1 43 -100 810 87.0
H6 H1l 3¢ S= A 110 71.0 97.0|J12 J4 5vS-3 #8 -150 76.0 920|J10 J9 4v¥N-1 A -100 81.0 87.0
K7 K6 2v N= 110 71.0 97.0|Gl4 G1 4¢ V+1 T -150 76.0 92.0|J11 J8 3v¥ N-1 3 -100 81.0 87.0
A8 A3 2y N= 44 110 71.0 97.0|F15 F5 4¢ V+1 &T -150 76.0 92.0 (K12 K2 4v N-1 -100 81.0 87.0
MO M1 2¢y N= 44 110 71.0 97.0|L16 L1 4¢ O+1 &J -150 76.0 92.0(M12 M13 4v N-1 ¢A -100 81.0 87.0
K11 K5 3¢ S= 110 71.0 97.0|L18 L3 4¢ V+1 T -150 76.0 92.0|G13 G6 4vy N-1 #A -100 81.0 87.0
L11 L1 2¢y N= 49 110 71.0 97.0|L19 L7 3¢ V+2 42 -150 76.0 92.0(G15 G7 4v N-1 +A -100 810 87.0
M11 M12 2v N= &9 110 71.0 970 H9 H4 3¢ O+3 #A -170 66.0 1020|F16 F1 4v¥ N-1 A -100 81.0 87.0
Gl14 G12 2y N= #9 110 71.0 970| E5 E7 4vDS-2 #8 -300 64.0 1040|L19 L7 4v¥N-1 #A -100 81.0 87.0
Cl C3 4vN-1 4 -100 38.0 130.0| E1 E11 5¢ V= 4T -400 45.0 123.0|(F19 F7 24 V= vK -110 620 106.0
11 13 3 N-1 &9 -100 38.0 130.0| N1 N11 5¢ V= T -400 45.0 123.0| B2 B3 4vy N-2 48 -200 45.0 123.0
Jl J7 4v N-1 4 -100 38.0 130.0| A2 A5 3NV= ¢9 -400 45.0 123.0| J3 J5 4vyN-2 2 -200 450 123.0
D2 D18 4y N-1 44  -100 38.0 130.0| E3 E9 5¢ V= 4T -400 450 1230 C4 C2 34S-2 3 -200 45.0 123.0
H2 H3 4¢vN-1 #8 -100 38.0 130.0| F4 F8 5¢ V= v4  -400 450 1230 D4 D8 4y N-2 #A -200 45.0 123.0
N2 N8 2y N-1 #9 -100 38.0 130.0| H5 H7 5¢ V= T -400 45.0 1230 F4 F8 34 S-2 ¢Q -200 45.0 123.0
K3 K1 3v N-1 -100 38.0 130.0( A8 A3 5¢ V= T -400 450 1230 L4 L8 4vN-2 #A -200 45.0 123.0
B4 B1l 4v N-1 &7 -100 38.0 130.0| B8 B4 5¢ V= T -400 45.0 123.0| G5 G4 4vS-2 +A -200 450 123.0
N4 N6 4¢vN-1 #9 -100 38.0 130.0| M8 M4 5¢ V= v4  -400 45.0 123.0(M10 M2 5¢v N-2 #A -200 45.0 123.0
B6 B9 4vN-1 «9 -100 38.0 130.0| B9 B1l1 5¢ V= T -400 45.0 123.0M11 M1 4vDN-1 ¢A -200 450 123.0
D6 D19 4y N-1 #9 -100 38.0 130.0(M11 M1 5¢ V= 42 -400 45.0 123.0({G14 Gl 4vyDN-1 ¢A -200 45.0 123.0
E7 E3 5#S-1 #4A -100 38.0 130.0|D12 D2 5¢ O= <vA -400 45.0 123.0|M14 M6 4vDN-1 #«A -200 45.0 123.0
B8 B10 3v¥y N-1 #9 -100 38.0 130.0|K12 K2 5¢ V= -400 45.0 123.0({D15 D5 4v N-2 43 -200 450 123.0
H10 H8 4v N-1 45 -100 38.0 130.0|L12 L2 5¢ V= T -400 45.0 123.0|L15 L5 4vDN-1 &J -200 45.0 123.0
K10 K8 4v N-1 -100 38.0 130.0 [N12 N15 5¢ O= vA  -400 45.0 1230(F17 F9 4vDN-1 #A -200 45.0 123.0
E11 E10 4v N-1 #9 -100 38.0 130.0|G13 G6 5¢ V= T -400 45.0 123.0|L17 L9 4¢vy N-2 +A -200 45.0 123.0
N11 N14 4v N-1 #Q -100 38.0 130.0|L14 L11 5¢ V= T -400 45.0 123.0|D18 D3 4vDN-1 3 -200 45.0 123.0
K12 K2 3NN-1 -100 38.0 130.0 (G16 G11 5¢ V= T -400 45.0 1230 H9 H4 44 S-3 #9 -300 22.0 146.0
G13 G5 3y N-1 #9 -100 38.0 130.0| J1 J7 3NO+1 T -430 240 1440(N10 N2 3NS-3 +Q -300 22.0 146.0
D14 D10 4v N-1 44 -100 38.0 130.0| H2 H3 3NO+1 ¥J -430 24.0 1440|E12 E6 34 S-3 ¢Q -300 22.0 146.0
G15 G6 4¢ S-1 «A -100 38.0 130.0|D15 D5 3NO+1 3 -430 24.0 1440|F12 F2 34 S-3 vA -300 22.0 146.0
N15 N10 4¢v N-1 ¢A -100 38.0 130.0| J3 J5 3NO+2 vJ -460 20.0 148.0 (D13 D6 44 S-3 ¢Q -300 220 146.0
F16 F12 4vy N-1 45 -100 38.0 130.0|D19 D7 4vDS-3 #8 -500 18.0 150.0 |N13 N14 34 S-3 +Q -300 22.0 146.0
D17 D8 4v N-1 4 -100 38.0 130.0|N16 N6 4¢DV= «T -510 16.0 152.0|D16 D1 44 S-3 vA -300 22.0 146.0
G17 G1 3y N-1 49 -100 38.0 1300 11 I3 5¢DO= T -550 70 1610 M8 M4 34 S-4 #9 -400 13.0 155.0
Bl B2 5#N-2 44 -200 8.0 160.0( M3 M9 5¢DV= «T -550 7.0 161.0(L13 L6 34 S-4 #9 -400 13.0 155.0
G10 G16 4y N-2 #9  -200 8.0 160.0 (G12 G8 5¢DO= vA -550 7.0 161.0( A2 A5 4¢vyDN-2 ¢2  -500 8.0 160.0
F11 F1 3NS-2 &K -200 8.0 160.0(L13 L6 54DO= vA -550 7.0 161.0| G3 G10 5vDN-2 5 -500 8.0 160.0
B13 B5 4vy N-2 &7 -200 8.0 160.0 (G15 G7 5¢DV= «T -550 7.0 161.0 (K11 K5 34DS-2 -500 8.0 160.0
F15 F4 3NS-2 42 -200 8.0 160.0|( L15 L5 5¢DO= T -550 7.0 161.0 (D14 D11 44DS-3 ¢+Q -800 3.0 165.0
D11 D1 5#N-3 «4  -300 1.0 167.0|D17 D9 5¢DV= «T -550 7.0 161.0(N16 N6 44DS-3 «Q -800 3.0 165.0
E12 E5 2¢v N-3 &9 -300 1.0 167.0|L17 L9 5¢DO= vA -550 7.0 1610 E3 E9 44DN-4 ¢Q -1100 0.0 168.0
A6 - 106.7 B1 - 84.1 B1 - 84.1
- M3 88.2 M5 - 84.4 M5 - 84.4
- K4 84.1 - N7 89.3 - N7 89.3
B12 - 63.7 A6 - 106.7 A6 - 106.7
- F5 90.4 - K4 84.1 - K4 84.1
N16 - 61.8 D10 - 98.5 D10 - 98.5
- G8 83.0 - F6 77.5 - F6 775
- D9 88.1 - G9 63.1 - G9 63.1
13 D Basta kontrakt 14 & Kn987 Basta kontrakt 15 & EKKn72 Basta kontrakt
Nord vKD104 64 O D-51400 |Ost v 1062 3NT O =-400 Syd v K75 5¢ S =650
Alla + EDKn Ingen + ED102 NS *4
#EKn654 & ¢ v & NT *Kn7 & ¢ v & NT *Kn976 & ¢ v & NT
« E9863 4 KKn742 N 7 11124 8 «KD «E104 N6 5574 4654 «D10983 N 106 118 10
v 97 v 632 S 7 11124 8 vEKNn85 v974 S65574 v9 v 1032 S 106 118 10
¢K106 ¢3 051172 49753 ¢ K864 078759 ¢ EKn10965 ¢ 732 037 253
#1097 #KD32 V51172 #1092 #KD4 V787509 *K54 «D10 V37253
+ 105 #6532 .-
v EKn85 vKD3 v EDKn864
4987542 +Kn + KD8
*8 #E8653 #E832
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
N6 N8 6y N= 3 1430 1680 0.0| C1 C3 4¢ O-3 42 150 166.0 20(D13 D8 6y S= ¢A 1430 168.0 0.0
A2 Al 44DO-3 #2 800 163.0 50| D5 D9 3¢ O-3 46 150 166.0 2.0(D15 D7 5¢DV-4 4A 800 166.0 20
B6 Bl 24DO-3 4T 800 1630 50| L7 L13 3¢ O-3 43 150 1660 20| D9 D19 4v S+2 +¢A 680 1640 4.0
L14 L12 44DO-3 #9 800 163.0 50| G1 G9 3¢ O-2 vK 100 157.0 110 N7 N9 3NS+2 ¢4 660 1610 7.0
G17 G3 54DO-3 #8 800 163.0 50| H3 H4 2¢ O-2 46 100 1570 11.0(J12 J5 3NN+2 4 660 1610 7.0
F5 F9 4¢yN+3 ¢3 710 158.0 100( E4 E10 4vV-2 48 100 1570 110 Cl1 C3 4vyS+1 #4 650 1150 53.0
D1 D3 4¢vN+2 «K 680 1500 18.0| E6 E8 3¢ O-2 #A 100 157.0 11.0| F1 F14 4y N+1 ¢A 650 115.0 53.0
K1 K10 4v N +2 680 150.0 180| B9 B5 2NO-2 #3 100 157.0 11.0| H1 H10 4v S+1 44 650 1150 53.0
D7 D13 4vy N+2 3 680 1500 18.0|F18 F4 3NO-2 3 100 157.0 110(| 11 16 4¢S+1 ¢A 650 1150 53.0
L7 L13 4v S+2 «A 680 1500 18.0| A2 Al 2NO-1 #3 50 1360 320| M1 M2 4v S+1 +¢A 650 1150 53.0
B9 B5 4v N+2 43 680 1500 180| C4 C2 3¢ O-1 #A 50 136.0 320| A2 Al 4v S+l +¢A 650 1150 53.0

Svenska Bridgeforbundet, Simultan 2022-05-05, sida 7 av 12




o+
w

¥
ZZ00000Z
Y YNININY

+ +
N =

2y N +2

1s N +

N

ATEAEARRARAA

)
PR

+ 0+ 0
[LRELE

iy

<
ZOWOOOO00O0OZZNZZZZ0O0:0:0:0:0:
NN

+3

a5
&T
&K
&K
+3

680
680
650
650
650
650
650
650
650
650
650
650
650
650
650
650
620
620
620
620
600
500
500
500
300
230
230
200
200
200
200
200
200
200
200
200
200
170
170
170
170
150
150
150
130
130
130
110
110
110
110
100
100
100
100
100
100

90

90

90

-100
-100
-100
-140
-140
-140
-140
-140
-170
-200
-200
-500
-790

150.0
150.0
129.0
129.0
129.0
129.0
129.0
129.0
129.0
129.0
129.0
129.0
129.0
129.0
129.0
129.0
111.0
111.0
111.0
111.0
106.0
102.0
102.0
102.0
98.0
95.0
95.0
83.0
83.0
83.0
83.0
83.0
83.0
83.0
83.0
83.0
83.0
69.0
69.0
69.0
69.0
62.0
62.0
62.0
56.0
56.0
56.0
49.0
49.0
49.0
49.0
39.0
39.0
39.0
39.0
39.0
39.0
29.0
29.0
29.0

PREERNNNN
AABANMNMNO
cooooooo

~ =
o oNhTIgIohh
o ooococooo

N N
A ® ©
5 IS Y

18.0
18.0
39.0
39.0
39.0
39.0
39.0
39.0
39.0
39.0
39.0
39.0
39.0
39.0
39.0
39.0
57.0
57.0
57.0
57.0
62.0
66.0
66.0
66.0
70.0
73.0
73.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
99.0
99.0
99.0
99.0
106.0
106.0
106.0
112.0
112.0
112.0
119.0
119.0
119.0
119.0
129.0
129.0
129.0
129.0
129.0
129.0
139.0
139.0
139.0
139.0
146.0
146.0
146.0
154.0
154.0
154.0
154.0
154.0
160.0
163.0
163.0
166.0
168.0
60.3

77.2
87.9
80.0

NNONRPRPRNRRRRERERN
SO P22 22222222

[
z2zZ22

NN
> ®

=
P4
O<ZNOO0O<KOO<KOOO0OO0O00:000:0000:0:0:0:0:0:0:0: 2

LU e NN (VL VL L [ o 1 U T T A TR VR VR TN

2¢

NN
< <€
<

INO +1
INO +1
INO +1
2N O =
IN O +1
IN O +1

INO +1
2N O =
INO +1
IN O +1
IN O +1
INO +1
IN O +1
IN O +1
INO +1
IN O +1
IN O +1
IN O +2
IN O +2
2N O +1
IN O +2
IN O +2
IN O +2

*4
v3
A
&5
46
a3
46
&5
a5
&3
&3
&3

&3
&5

&3
&3
&5
46
vK
& A
*2
&3
&3
49

&5
SA
v8
&K
48
*J

46
&5
46
&5
&5
*J
&3
&5
46
&5
&5
&6
&3
&5
&3
&5
&3
&3
&3
*J
&3
vK
46

-50
-70
-90
-90
-90
-90
-90
-90

-90
-90

-90
-90
-90
-90
-90

-90
-90
-90
-90
-90
-90
-90
-90

-90

-90
-100
-100
-110
-110
-110
-120
-120
-120
-120
-120
-120
-120
-120
-120
-120
-120
-120
-120
-120
-120
-120
-120
-120
-150
-150
-150
-150
-150
-150

136.0
136.0
136.0
136.0
136.0
136.0
136.0
136.0
136.0
136.0
136.0
136.0
136.0
118.0
118.0
118.0
114.0
112.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
55.0
55.0
50.0
50.0
50.0
29.0

N N
o oo o

-
U1 Doooooboook

N o~
2 ® ©
o o1 O,

32.0
32.0
32.0
32.0
32.0
32.0
32.0
32.0
32.0
32.0
32.0
32.0
32.0
50.0
50.0
50.0
54.0
56.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
84.0
113.0
113.0
118.0
118.0
118.0
139.0
139.0
139.0
139.0
139.0
139.0
139.0
139.0
139.0
139.0
139.0
139.0
139.0
139.0
139.0
139.0
139.0
139.0
163.0
163.0
163.0
163.0
163.0
163.0
60.3

77.2
87.9
80.0

Gl1

4v

S+1
S=

S +1
S+1
S+1

S+1

S+1

=

U U0 ++++1U++10++++1+1
RRRR PR RRRER

w

e N N N S L LN

OCZOUnunLLLOHLLLOLOLOOLOVZNNOOLBLOLOLOLOOOLOLOOOLOLOOOLOLOOVOVOOLOOVLOLOOOONn

+
[N

46
Y|
*A
*A
&4
*A
*A
*A
*A
*A
*A
*A
*A
*A
*A
*A
vA

650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
650
620
620
620
620
620
200
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-450

115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
66.0
66.0
66.0
66.0
66.0
60.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
0.0

79.5
72.6

53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
53.0
102.0
102.0
102.0
102.0
102.0
108.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
138.0
168.0
98.6
90.6

77.2
77.0

58.0
98.5

Svenska Bridgeforbundet, Simultan 2022-05-05, sida 8 av 12




16
Vast
ov

4 K973
v K74
¢ Kn6

465

v Kn1096532

+ 1053

*6

4 ED84
v8

¢+ EK9874

&#E1073 #52

4 Kn102
vED

¢ D2
#KDKn984

Kontr

4y S=

54DV -1
be V-1

4a V
3N
54
3N
3v
4v
4e
4v
4v
4v
3¢
4v
4v
38
4v
4e
38
4v

Ut

R b
.
o

dwd !l
3
A

'y +
N

'
WwwWwww

do o

U4+ o+
LN A

+
N

N<<ONOZL<O<<ZNOZNZZO0ZZZ0ZzZ<<<
A +
&

L+ o+
AO00%

(oo
+ +
ww

Bw
e 1§
no
&9

N

4vD S -3

ww
2z
<<
11

<LK LKLK KOO

V+1
O+1
Y+l
O +1
Q+1
Q+1
O +1
Q+1
Q+1
O+1
V+l
O +2
V +2
0 +2
0 +2
O +2
O +2

Basta kontrakt
54 V =-650
& ¢ v & NT

N526 12

S52612

O 8 106 119

vV 8 106 119
Res Poang
420 168.0 0.0
200 166.0 2.0
100 160.0 8.0
100 160.0 8.0
100 160.0 8.0
100 160.0 8.0
100 160.0 8.0
-100 153.0 15.0
-100 153.0 15.0
-130 150.0 18.0
-150 138.0 30.0
-150 138.0 30.0
-150 138.0 30.0
-150 138.0 30.0
-150 138.0 30.0
-150 138.0 30.0
-150 138.0 30.0
-150 138.0 30.0
-150 138.0 30.0
-150 138.0 30.0
-150 138.0 30.0
-170 123.0 45.0
-170 123.0 45.0
-170 123.0 45.0
-170 123.0 45.0
-200 112.0 56.0
-200 112.0 56.0
-200 112.0 56.0
-200 112.0 56.0
-200 112.0 56.0
-200 112.0 56.0
-200 112.0 56.0
-230 103.0 65.0
-230 103.0 65.0
-300 99.0 69.0
-300 99.0 69.0
-500 96.0 72.0
-600 93.0 75.0
-600 93.0 75.0
-620 79.0 89.0
-620 79.0 89.0
-620 79.0 89.0
-620 79.0 89.0
-620 79.0 89.0
-620 79.0 89.0
-620 79.0 89.0
-620 79.0 89.0
-620 79.0 89.0
-620 79.0 89.0
-620 79.0 89.0
-620 79.0 89.0
-630 65.0 103.0
-630 65.0 103.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-650 43.0 125.0
-680 17.0 151.0
-680 17.0 151.0
-680 17.0 151.0
-680 17.0 151.0
-680 17.0 151.0
-680 17.0 151.0

17 & Kn754
Nord v DKn32
Ingen + 642
»62
« E96 & D832
v 1097 v K85
¢ KKn87 ¢ 1053
K98 &DKn7
K10
v E64
+ ED9
#E10543
Par Kontr Ut
C4 C3 INS+2 o7
A8 A5 INS+2 T
G8 G7 INS+2 ¢7
G13 G9 INS+2 38
F17 F12 INS+2 T
L17 L12 INS+2 ¢7
F20 F1 INS+2 7
N1 N2 INS+1 ¢7
H2 H10 INS+1 +¢8
A3 A2 INS+1 46
F3 F5 INS+1 T
G4 G14 INS+1 T
N4 N14 INS+1 8
G6 Gl 2NS= vT
N6 N12 INS+1 T
E12 E9 INS+1 ¢7
G15 G10 INS+1 T
F18 F6 INS+1 &6
L19 L10 INS+1 o7
K7 K11 1% S+2
H9 H6 24 S+1 T
N8 N10 2¢ V-2 &6
Al A6 INS= vT
11 16 INS= *7
J1 J11 INS= vT
J2 J10 2% S= vT
K2 K10 INS=
M2 M3 INS= *7
L3 L5 INS= *7
E4 E3 INS= *7
E5 E2 INS= *7
E6 E1 INS= *7
D7 D11 INS= vT
F7 F11 INS= vT
B8 B3 INS= *7
D8 D15 INS= *7
E8 E10 INS= *7
H8 H3 INS= v9
J8 J4 INS= +8
D9 D13 INS= *7
L9 L13 INS= *7
E1l E7 INS= vT
B12 B2 INN= vT
J12 J6 INS= +8
K12 K4 INS=
D14 D2 INS= vT
L14 L2 2¢ S= v7
F16 F4 INS= *7
Gl6 G2 INS= *7
L16 L4 INS= *7
L18 L6 INS= +8
D19 D10 INS= *7
F19 F10 INS= +8
C2 C1 14S= v7
12 15 24 O-1 +A
K1 K8 INS-1
M1 M4 24 S-1 T
D3 D5 2NS-1 46
J3 J9 INS-1 +¢8
H4 H5 2¢ S-1 T
14 13 INS-1 ¢7
B5 B6 3NS-1 v7
J5 J7 INS-1 7
K5 K3 INS-1
M6 M12 2v N-1 &2
H7 H1 INS-1 ¢7
L7 L11 3vy N-1 &3
N7 N11 2NS-1 T
L8 L15 INS-1 T
B13 B9 2¢ N-1 ¢3
M13 M5 INS-1 ¢7
F14 F2 2NS-1 +7
M14 M9 24 S-1 T
N16 N9 INS-1 o7
G17 G5 2NS-1 7
D18 D6 INS-1 7
F8 F15 INS-2 38
M8 M10 INS-2 T
B10 Bl 3#S-2 +¢8

Basta kontrakt

24 OD-1100
& ¢ v & NT
N7 6 7 65
S7 6865
06 7577
V66577
Res Poang
150 162.0 6.0
150 162.0 6.0
150 162.0 6.0
150 162.0 6.0
150 162.0 6.0
150 162.0 6.0
150 162.0 6.0
120 143.0 25.0
120 143.0 25.0
120 143.0 25.0
120 143.0 25.0
120 143.0 25.0
120 143.0 25.0
120 143.0 25.0
120 143.0 25.0
120 143.0 25.0
120 143.0 25.0
120 143.0 25.0
120 143.0 25.0
110 129.0 39.0
110 129.0 39.0
100 126.0 42.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
90 94.0 74.0
70 62.0 106.0
50 60.0 108.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-50 38.0 130.0
-100 9.0 159.0
-100 9.0 159.0
-100 9.0 159.0

18
Ost
NS

& K52

v DKn63
¢+ 104
&ED64

4 ED876 4Knl09

v 972
+ D63
109

Par
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#53
& 43
vE10

+ EKn85
&#KKn872

Kontr

3NS+1
3NN +1
3N S +1
3NS+1
3NS+1
3NN +1
3NS+1
3NS+1
3NN +1
3NN +1
3NS+1
3NN +1
3NN +1
3NS+1
3NN +1
3NS=
3N

oL L e e 1 1 1 1 O I [ O

NNWWWWWAIATWWWWWUIITWWWWWWWWWwWwwWwwwwul
2222222822222 2222222222222 2W%
ZZNZZZ0W0NZ2Z0Z2Z0W0NZ22020NZ2Z222022Z2202

2NN =

N
> e ZZ2Z
[NINY

WWWWNN
<<nzzZzuw

v K854
¢ K972

Basta kontrakt

5# S =600
& ¢ v & NT
N 11109 7 9
S 11109 7 9
023353
V23353
Res Poang
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
630 154.0 14.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
600 110.0 58.0
210 80.0 88.0
180 78.0 90.0
170 76.0 92.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
150 58.0 110.0
130 35.0 133.0
130 35.0 133.0
130 35.0 133.0
130 35.0 133.0
130 35.0 133.0
130 35.0 133.0
120 24.0 144.0
120 24.0 144.0
120 24.0 144.0
120 24.0 144.0
120 24.0 144.0
110 17.0 151.0
110 17.0 151.0
100 13.0 155.0
100 13.0 155.0




K1 K8 4vyDN-4 -800 6.0 162.0|B11 B7 2#S-2 v9 -100 9.0 159.0| K1 K8 3NN-1 -100 6.0 162.0
L1 L14 5vDN-4 ¢A -800 6.0 162.0|N15 N3 INS-2 T -100 9.0 159.0| C2 C1 5#S-1 46 -100 6.0 162.0
E5 E11 5¢vDN-4 ¢A -800 6.0 162.0|D16 D4 3NS-2 +¢7 -100 9.0 159.0| J5 J7 3NN-1 &7 -100 6.0 162.0
G7 G6 5vDN-4 ¢A  -800 6.0 162.0 D17 D12 2¢ S-2 T -100 9.0 159.0| L18 L6 3NS-1 &3 -100 6.0 162.0
D17 D11 5vDN-4 ¢A -800 6.0 162.0|L20 L1 2NS-2 7 -100 9.0 159.0| L19 L10 5#S-1 3 -100 6.0 162.0
E4 E1 54DS-5 44 -1100 0.0 168.0| G3 G11 INS-3 ¥9 -150 0.0 168.0| N7 N11 3v N-3 &7 -300 0.0 168.0
- N11 98.6 - A7 64.5 - A7 64.5
- M9 90.6 | B4 - 87.6 B4 - 87.6
A8 - 79.5 F9 - 77.0 F9 - 77.0
- K6 92.0 - K6 92.0 - K6 92.0
Gl1 - 72.6 M11 - 84.1 M11 - 84.1
- F8 77.0 [N13 - 86.2 N13 - 86.2
- B3 58.0 - G12 88.4 - G12 88.4
- D12 98.5 - D1 95.0 - D1 95.0
19 & KKn943 Basta kontrakt 20 aD Basta kontrakt 21 482 Basta kontrakt
Syd v 108754 34 S =140 Vast v K6 54 N D -1-200 Nord v EK2 4¢ O =-130
()Y +8 Alla + D97 NS ¢ 954
#K3 & ¢ v & NT #EDKN10973 & ¢ v & NT #ED1098 & ¢ v & NT
476 41052 N559 98 4 KKn6 & E98732 N 108 3 3 6 4 KKn « ED97 N8196 4
v EKn v K96 S55998 vE10954 v8732 S 108 3 3 6 vDKn98 v10 S8196 4
+D1074 ¢ EKn32 O77 445 + K842 + Kn6 O 3 5 10105 + Kn8762 ¢ EKD103 O5 104 6 6
#D10952 #Kn64 V77445 *4 »5 V 3 5 10105 «54 »732 V 4 104 6 6
« ED8 #1054 # 106543
v D32 v DKn v 76543
+ K965 + E1053 ¢-
»E87 »K862 #KKn6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
F3 F14 44 S= v3 420 160.0 80| J6 J8 3NN= ¥8 600 165.0 30| E7 E4 3v N= ¢A 140 167.0 1.0
M3 M4 44 N= 42 420 160.0 80| E7 E2 3NN= 8 600 165.0 3.0|D18 D8 3v S= ¢2 140 167.0 1.0
D5 D16 4y N= #4 420 160.0 80(M12 M8 5#N= ¢J 600 165.0 3.0| J2 J1 2NO-2 8 100 163.0 5.0
K6 K4 4y N= 420 160.0 8.0(D17 D1 3NN= 47 600 1650 30| H5 H6 5¢DO-1 v7 100 163.0 5.0
B9 B4 44 N= &7 420 160.0 8.0 H3 H10 5vDV-1 «Q 200 159.0 9.0(D10 D15 INN= ¢A 90 160.0 8.0
B13 B10 44 N= ¢A 420 160.0 80| F5 F16 5vDV-1 4Q 200 159.0 9.0 M3 M6 4¢ V-1 &A 50 153.0 15.0
F15 F9 44 S= &T 420 160.0 80| J2 J1 44 N+1 3 150 155.0 13.0| B7 B8 5¢ V-1 vK 50 153.0 15.0
F17 F1 44 N= &6 420 160.0 80| F3 F14 24 N+3 ¢6 150 155.0 13.0| D9 D1 5¢ O-1 &6 50 153.0 15.0
F20 F2 4v S= #2 420 160.0 8.0| Bl B3 44 N= ¥3 130 125.0 43.0(L11 L13 14 O-1 &6 50 153.0 15.0
F18 F7 24 N+3 v9 200 150.0 180 N1 N4 44 N= ¢8 130 125.0 43.0|El12 E11 5¢ V-1 vA 50 153.0 15.0
2 14 2NS+2 &5 180 147.0 21.0( K2 K1 44 N= 130 125.0 43.0(F19 F12 4¢ O-1 44 50 153.0 15.0
H8 H2 INS+3 &T 180 147.0 21.0| A3 A2 4 N= &A 130 125.0 43.0|B10 B5 3#N-1 ¢A -100 146.0 22.0
K3 K10 2v N +2 170 143.0 25.0( L3 L14 3#N+1 ¢8 130 125.0 43.0|D11 D13 3¢ O= &K -110 143.0 25.0
B6 B7 24 S+2 &5 170 143.0 250 C4 C3 4 N= 3 130 1250 43.0|J12 J7 24 0= v3 -110 143.0 25.0
M1 M6 2NS+1 &5 150 136.0 32.0| F4 F6 3«#N+1 ¥8 130 125.0 43.0| H1 H4 4¢ O= K -130 102.0 66.0
N2 N3 INS+2 ¢4 150 136.0 320 H5 H6 3« N+1 ¥3 130 125.0 43.0( A2 A7 2¢ O+2 &6 -130 102.0 66.0
L4 L6 2NS+1 &9 150 136.0 32.0 I5 11 44N= &A 130 1250 43.0| C2 C1 3¢ O+1 &6 -130 102.0 66.0
H9 H7 INS+2 &5 150 136.0 32.0| B6 B7 4 N= v7 130 125.0 43.0| E2 E9 2¢ O+2 &K -130 102.0 66.0
N16 N10 INS+2 &2 150 136.0 32.0( K6 K4 2# N +2 130 125.0 43.0| F2 F17 3¢ O+1 &6 -130 102.0 66.0
Al A6 24 N+1 6 140 111.0 570 G7 G2 4 N= v8 130 125.0 43.0 2 14 3¢ O+1 &6 -130 102.0 66.0
Bl B3 2v S+1 &2 140 111.0 570 B9 B4 44 N= v8 130 125.0 43.0| L2 L17 4¢ O= +3 -130 102.0 66.0
K2 K1 24 S+1 140 111.0 570 G9 G8 44 N= ¥8 130 125.0 43.0( H3 H10 3¢ O+1 &K -130 102.0 66.0
J3 J11 34 S= &2 140 111.0 57.0(B11 B2 44 N= ¢3 130 125.0 43.0 I3 16 3¢ V+1 vA -130 102.0 66.0
D4 D6 2v S+1 &7 140 111.0 57.0|E12 E10 44 N= ¢A 130 125.0 43.0| J3 J11 3¢ O+1 &6 -130 102.0 66.0
F4 F6 24 S+1 &2 140 111.0 57.0(B13 B10 4# N= ¥8 130 125.0 43.0| K3 K10 1¢ O+3 -130 102.0 66.0
G4 G12 24 S+1 2 140 111.0 57.0(D13 D10 44 N= ¢3 130 125.0 43.0| N3 N4 3¢ O+1 &K -130 102.0 66.0
E5 E4 34 S= vA 140 111.0 57.0(G13 G10 44 N= ¥8 130 125.0 43.0| C4 C3 4¢ O= «K -130 102.0 66.0
D8 D12 24 S+1 &2 140 111.0 57.0(L13 L10 4 N= v7 130 125.0 43.0( J4 J10 3¢ O+1 &6 -130 102.0 66.0
F8 F12 2v N+1 ¢A 140 111.0 57.0(L15 L9 4 N= 7 130 125.0 43.0| A5 Al 3¢ O+1 &K -130 102.0 66.0
L8 L12 24 S+1 vA 140 111.0 57.0(G16 G3 3« N+1 ¢8 130 125.0 43.0| D5 D7 3¢ O+1 v7 -130 102.0 66.0
G9 G8 24 S+1 7 140 111.0 57.0(G17 G6 4#S= vA 130 125.0 43.0 I5 11 4¢ O= &K -130 102.0 66.0
M9 M1l 24 S+1 &5 140 111.0 57.0(L17 L1 4#N= 3 130 1250 43.0| J6 J8 4¢ V= v3 -130 102.0 66.0
N9 N11 2v N+1 #4 140 111.0 57.0|D18 D7 4 N= &A 130 125.0 43.0| N6 N1 3¢ O+1 46 -130 102.0 66.0
B1l B2 34 N= 42 140 111.0 57.0(D19 D11 44 N= ¢3 130 125.0 43.0| E8 E3 3¢ O+1 &K -130 102.0 66.0
B12 B8 24 N+1 ¢3 140 111.0 57.0(F20 F2 3« N+1 2 130 125.0 43.0( G8 G3 2¢ O+2 &6 -130 102.0 66.0
E12 E10 34 S= &9 140 111.0 57.0|L20 L2 4 N= &A 130 125.0 43.0| M8 M1l 2¢ O+2 &6 -130 102.0 66.0
L15 L9 24 S+1 vA 140 111.0 57.0| M2 M5 4v V-1 &A 100 940 74.0| N8 N14 4¢ O= &6 -130 102.0 66.0
G1l7 G6 3vy N= &6 140 111.0 57.0 I3 16 44 O-1 &2 100 940 740| F9 F1 4¢ O= 6 -130 102.0 66.0
F19 F11 24 S+1 ¢4 140 111.0 57.0| F8 F12 4v V-1 #A 100 940 740| H9 H7 3¢ O+1 &K -130 102.0 66.0
D3 D14 2NS= &5 120 85.0 83.0| A1 A6 5#N-1 «Q -100 60.0 1080| J9 J5 2¢ O+2 &K -130 102.0 66.0
C4 C3 2NS= &2 120 85.0 83.0( HIL H4 54N-1 ¢8 -100 60.0 108.0 | F10 F15 2¢ O+2 &K -130 102.0 66.0
E6 E3 2NS= &5 120 85.0 83.0 2 14 54S-1 vA -100 600 108.0|G10 G9 3¢ O+1 K -130 102.0 66.0
D15 D9 2NS= &5 120 85.0 83.0[ N2 N3 54N-1 «A -100 60.0 108.0|L10 L15 2¢ O+2 &J -130 102.0 66.0
D18 D7 2NS= &T 120 85.0 83.0( J3 J11 54 N-1 +8 -100 60.0 108.0 |N10 N12 3¢ V+1 &K -130 102.0 66.0
D19 D11 INS+1 &5 120 85.0 83.0( K3 K10 5# N-1 -100 60.0 108.0 (B12 B3 3¢ O+1 #K -130 102.0 66.0
G5 G14 24 S= 47 110 75.0 93.0( M3 M4 54N-1 ¢8 -100 60.0 108.0 |G12 G15 3¢ O+1 v7 -130 102.0 66.0
N8 N12 24 S= 7 110 75.0 93.0( D4 D6 5#N-1 ¢8 -100 60.0 108.0 (K12 K5 3¢ O +1 -130 102.0 66.0
K12 K5 24 S= 110 75.0 93.0| G4 G12 54 N-1 97 -100 60.0 108.0 |F14 F4 2¢ O+2 v7 -130 102.0 66.0
D13 D10 24 S= &9 110 75.0 93.0( J4 J10 54 N-1 «A -100 60.0 108.0|G14 G6 3¢ O+1 v7 -130 102.0 66.0
E1l E8 44 S-1 a7 -50 45.0 123.0| L4 L6 54 N-1 ¥8 -100 60.0 108.0 ([M14 M11 4¢ V= vA -130 102.0 66.0
N1 N4 4v N-1 49 -50 45.0 123.0| D5 D16 54 N-1 ¢3 -100 60.0 108.0 | F16 F6 3¢ O+l v¥6 -130 102.0 66.0
J2 J1 44 S-1 7 -50 45.0 123.0| E5 E4 54 N-1 ¥8 -100 60.0 108.0|F18 F8 3¢ O+1 &K -130 102.0 66.0
M2 M5 44 S-1 vA -50 45.0 123.0| G5 G14 54 N-1 4A -100 60.0 108.0|L19 L12 3¢ V+1 ¢K -130 102.0 66.0
A3 A2 44 N-1 #3 -50 45.0 123.0| L5 L16 5#N-1 #4A -100 60.0 108.0| H8 H2 2¢ O+3 #6 -150 54.0 114.0
H3 H10 44 S-1 &7 -50 45.0 123.0| N7 N13 54 N-1 «4A -100 60.0 108.0( N9 N13 3¢ O+2 &6 -150 54.0 114.0
I3 16 44 S-1 a7 -50 45.0 123.0| A8 A5 5&4N-1 ¥2 -100 60.0 108.0 (E10 E1 4¢ V+1 vA -150 54.0 1140
L3 L14 4v S-1 &7 -50 45.0 123.0| H8 H2 54 N-1 v8 -100 60.0 108.0 [M10 M12 3¢ O+2 &K -150 54.0 114.0
J4 J10 44 S-1 &3 -50 45.0 123.0| K8 K11 5& N-1 -100 60.0 108.0 [M13 M9 2¢ O+3 43 -150 54.0 114.0
F5 F16 4v S-1 &5 -50 45.0 123.0| L8 L12 54 N-1 4A -100 60.0 108.0|/D14 D4 3¢ O+2 ¥3 -150 54.0 114.0
H5 H6 44 S-1 vA -50 45.0 123.0| N8 N12 54 N-1 ¥3 -100 60.0 108.0 | L14 L4 4¢ O+1 %6 -150 54.0 114.0
I5 11 44 N-1 &4 -50 45.0 123.0| J9 J5 54 N-1 ¥2 -100 60.0 108.0 |D16 D6 3¢ O+2 &6 -150 54.0 114.0
L5 L16 4v S-1 &T -50 45.0 123.0|G11 G15 54 N-1 4A -100 60.0 108.0|D19 D12 3¢ O+2 &6 -150 54.0 114.0
J6 J8 44 S-1 &2 -50 45.0 123.0|B12 B8 54 N-1 &4A -100 60.0 108.0| L5 L7 3¢ O+3 ¢7 -170  38.0 130.0

Svenska Bridgeforbundet, Simultan 2022-05-05, sida 10 av 12




E7 E2 44 S-1 46 -50 45.0 123.0|(K12 K5 5# N-1 -100 60.0 108.0( A8 A6 3¢ V+3 vA -170 38.0 130.0
A8 A5 4v S-1 &7 -50 45.0 123.0 (M14 M10 5 S-1 &4 -100 60.0 108.0 [G16 G4 3¢ O+3 v7 -170  38.0 130.0
K8 K11 3N S-1 -50 45.0 123.0|F15 F9 5#N-1 4A -100 60.0 108.0|L16 L6 3¢ O+3 v6 -170  38.0 130.0
E9 E11 4v N-1 2 -50 45.0 123.0|N16 N10 54 N-1 ¢8 -100 60.0 108.0| L18 L8 4¢ O+2 v¥6 -170  38.0 130.0
J9 J5 3vS-1 &5 -50 450 123.0|(F17 F1 54N-1 A -100 60.0 1080|F20 F3 3¢ O+3 v7 -170  38.0 130.0
J12 J7 4v S-1 7 -50 45.0 123.0|F18 F7 2#N-1 3 -100 60.0 108.0|L20 L3 3¢ V+3 vA -170 38.0 130.0
G13 G10 4y N-1 &6 -50 45.0 123.0|L19 L11 54 N-1 +8 -100  60.0 108.0( M4 M5 4vyDS-1 ¢2 -200 29.0 139.0
M14 M10 44 S-1 &7 -50 45.0 123.0| E6 E3 3vV= &A -140 28.0 140.0|G17 G7 5&4#N-2 ¢K -200 29.0 139.0
Gl6 G3 3NS-1 &5 -50 45.0 123.0| D8 D12 3v V+1 4Q -170 23.0 145.0|B13 B11 3v S-3 +¢2 -300 26.0 142.0
D17 D1 44 S-1 &2 -50 45.0 123.0| M9 M11 34 O+1 +Q -170 23.0 1450| B2 B4 5¢ O= &6 -400 20.0 148.0
L17 L1 464 S-1 ¢7 -50 45.0 123.0( N9 N11 3v V+1 «Q -170 23.0 145.0| K2 K1 5¢ O= -400 20.0 148.0
L20 L2 34 N-1 2 -50 45.0 123.0|J12 J7 3vV+l &A -170 23.0 1450| F5 F7 4v S-4 2 -400 20.0 148.0
Hl H4 44 S-2 &2 -100  10.0 158.0( M1 M6 5#DN-1 A -200 13.0 155.0| K8 K11 5¢ O= -400 20.0 148.0
G7 G2 3NS-2 a7 -100 10.0 158.0| C2 C1 5#DN-1 A -200 13.0 155.0 (G13 G11 3v S- +6 -400 20.0 148.0
N7 N13 44 N-2 +¢A -100 10.0 158.0| D3 D14 54DN-1 «A -200 13.0 155.0| B1 B9 5¢ O+1 3 -420 12.0 156.0
G1l1 G15 4y N-2 ¢A -100 10.0 158.0| H9 H7 54DN-1 ¢3 -200  13.0 155.0| G5 G1 5¢ O+1 v7 -420 12.0 156.0
M12 M8 3&#N-2 ¢A -100 10.0 158.0|D15 D9 54DN-1 v3 -200  13.0 155.0( L9 L1 5¢ O+1 v7 -420 12.0 156.0
L13 L10 44 S-2 vA -100 10.0 158.0(L18 L7 54DN-1 ¢3 -200 13.0 155.0| E6 E5 3NV+2 vA -460 8.0 160.0
N14 N6 44 S-2 vA -100 10.0 1580| E1 E8 4v V= &«Q -620 3.0 165.0 |N15 N7 4¢DO= &K -510 6.0 162.0
L18 L7 44 N-2 &4 -100  10.0 158.0| E9 E11 4v V= &«Q -620 3.0 165.0 [N16 N11 5¢DO= %6 -550 4.0 164.0
L19 L11 54 N-2 %6 -100 10.0 158.0|N14 N6 4v V= &#A -620 3.0 165.0| K6 K4 3¢DO+ -570 2.0 166.0
C2 Cl 3#N-3 &5 -150 0.0 168.0 | F19 F11 4v V= «Q -620 3.0 165.0( D2 D17 4vS-6 +6 -600 0.0 168.0
- A7 64.5 - A7 64.5| M2 - 78.5
B5 - 90.1 B5 - 90.1 N2 - 63.5
- N15 67.9 - N15 67.9 - A3 87.9
- M13 84.0 - M13 84.0 - K7 100.6
- K7 100.6 - K7 100.6 | F11 - 70.6
- F10 88.2 - F10 88.2 - B6 92.1
- G1 109.3 - Gl 109.3 - G2 81.2
- D2 81.8 - D2 81.8 - D3 85.4
22 4985 Basta kontrakt 23 4 E1084 Basta kontrakt 24 4 E7532 Basta kontrakt
Ost v Kn10642 46 N =420 Syd v 106 6NT S =1440 Vast vE5 3v ND-1-100
ov 4765 Alla + Kn85 Ingen *4
&E10 & ¢ v & NT &EK54 & ¢ v & NT #105432 & ¢ v & NT
476 & K1042 N9 6 9 109 4Kn7632 49 N 10127 1112 & KKn6 « D108 N4 3 856
v75 v KD983 S 856 86 v93 vEDKn7542 S 10127 1112 vK v 10732 S548¢67
¢ EKDKN843 ¢ - 047 434 +93 ¢ 64 021621 ¢ EK1098 ¢ 752 089576
»65 #Kn843 V37433 10763 #D98 V21621 &#EKN97 &D86 V89576
& EDKn3 & KD5 494
vE v K8 v DKn9864
1092 + EKD1072 + DKn63
&#KD972 &Kn2 &K
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
H6 H7 4vDO-4 K 1100 167.0 10| Bl B4 64 S= v9 1370 167.0 1.0|L12 L13 4¢yDS= ¢A 590 168.0 0.0
G13 G11 5¢DV -4 &A 1100 167.0 1.0|M14 M12 6¢ N= ¢4 1370 167.0 1.0 I5 11 3¢ V-5 vA 250 166.0 2.0
N10 N12 34DS= ¢K 530 1640 40| B2 B10 3vDO-3 ¢A 800 162.0 6.0|D12 D13 3¢ V-4 vA 200 163.0 5.0
L5 L7 24 V-5 #A 500 160.0 80| L7 L16 3vDO-3 ¢A 800 162.0 6.0|B13 B12 3¢ V-4 vA 200 163.0 5.0
D18 D8 3NO-5 &2 500 160.0 8.0|J10 J6 3vyDO-3 ¢A 800 162.0 6.0| K1 K11 3v S+1 170 158.0 10.0
F20 F3 4¢DV-2 #A 500 160.0 8.0| M1 M10 3NN+4 7 720 149.0 19.0| K3 K2 2v S+2 170 158.0 10.0
K3 K2 3NO-4 400 154.0 14.0| A5 Al 3NS+4 v9 720 149.0 19.0|L15 L11 2vy S+2 ¢A 170 158.0 10.0
N9 N13 3#V-4 49 400 1540 140| F6 F8 3NS+4 v9 720 149.0 19.0| B2 B10 24 V-3 vA 150 149.0 19.0
M10 M12 4e¢ V-4 &A 400 154.0 14.0| K6 K12 3NN +4 720 149.0 19.0| N3 N6 5¢ O-3 +¢Q 150 149.0 19.0
C2 C1 3¢V-3 #A 300 147.0 21.0| J7 J9 3NS+4 &2 720 149.0 19.0| C4 C3 3&V-3 ¢4 150 149.0 19.0
F2 F17 4v O-3 %2 300 147.0 21.0] N7 N2 3NS+4 v9 720 149.0 19.0| M5 M6 5¢ V-3 &A 150 149.0 19.0
12 14 3¢ V-3 #A 300 147.0 21.0|B11 B6 3NN+4 «J 720 149.0 19.0| D6 D8 2NV-3 &2 150 149.0 19.0
B7 B8 3v O0-3 #Q 300 147.0 21.0|G12 G13 3NS+4 v9 720 149.0 19.0| K6 K12 3NV-3 150 149.0 19.0
M3 M6 3¢ V-2 #A 200 136.0 32.0|B13 B12 3NN+4 &8 720 149.0 19.0| G6 G2 3v S= ¢A 140 135.0 33.0
K4 K10 3v O-2 200 136.0 32.0|F15 F11 3NN+4 ¢Q 720 149.0 19.0| L7 L16 2v S+1 K 140 135.0 33.0
F9 F1 3¢ V-2 &A 200 136.0 32.0| N1 N8 3NN+3 A 690 123.0 45.0| E8 E5 3v S= ¢A 140 135.0 33.0
G12 G15 3¢ V-2 &A 200 136.0 32.0| N3 N6 3NS+3 3 690 123.0 45.0| D9 D18 2v S+1 ¢A 140 135.0 33.0
D14 D4 3¢ V-2 &A 200 136.0 32.0| F5 F14 3NN+3 5 690 123.0 45.0|L10 L2 3vS= ¢A 140 135.0 33.0
F16 F6 3¢ V-2 &A 200 136.0 32.0| G5 G16 3NN+3 49 690 123.0 45.0|E11 E2 34 N= 7 140 135.0 33.0
F18 F8 4¢ V-2 &A 200 136.0 32.0| G6 G2 3NS+3 ¥9 690 123.0 45.0|G14 G7 2v S+1 ¢A 140 135.0 33.0
K1 K11 34 S+1 170 128.0 40.0| D7 D16 3NS+3 &2 690 123.0 45.0|D19 D1 3v S= ¢A 140 135.0 33.0
H1 H3 34 S= ¢A 140 124.0 44.0| K7 K5 3NS+3 690 123.0 45.0| H2 H5 2v S= ¢A 110 121.0 47.0
N3 N4 34 S= ¢A 140 1240 440| E8 E5 3NS+3 #3 690 123.0 45.0 2 14 2vS= ¢A 110 121.0 47.0
N6 N1 34 S= +J 140 124.0 440| F9 F18 3NS+3 ¥9 690 123.0 450 M3 M8 2v S= ¢A 110 121.0 47.0
L2 L17 24 S= +K 110 117.0 51.0| M9 M2 3NS+3 3 690 123.0 45.0| A5 Al 2vS= ¢A 110 121.0 47.0
I3 16 3S= ¢A 110 117.0 51.0|D10 D2 3NS+3 v9 690 123.0 45.0|M11 M13 2v S= ¢A 110 121.0 47.0
J7 J9 1la S+1 ¢A 110 117.0 51.0|F10 F2 3NS+3 &2 690 123.0 45.0|G17 G8 2v S= ¢+A 110 121.0 47.0
L14 L4 2 S+1 +A 110 117.0 51.0|E11 E2 3NS+3 ¥9 690 123.0 45.0| J4 J1 3¢DV-1 vA 100 104.0 64.0
B2 B4 3¢ V-1 &A 100 89.0 79.0(M11 M13 3NN+3 ¥2 690 123.0 45.0| D7 D16 3NV-2 43 100 104.0 64.0
E2 E9 3¢ V-1 &A 100 89.0 79.0(N11 N13 3NS+3 &7 690 123.0 450| K7 K5 3¢DV-1 100 104.0 64.0
H2 H5 3¢ V-1 &A 100 89.0 79.0(L12 L13 3NN+3 vA 690 123.0 450 N7 N2 5¢ O-2 49 100 104.0 64.0
J3 J2 3¢V-1 2 100 89.0 79.0(L19 L1 44 N+2 %8 680 106.0 62.0| A8 A6 2¢ O-2 v6 100 104.0 64.0
C4 C3 2¢ V-1 «A 100 89.0 79.0( K1 K11 44 N+1 650 98.0 70.0( H9 H8 3¢ V-2 vA 100 104.0 64.0
A5 Al 3¢ V-1 &A 100 89.0 79.0( A2 A7 44 N+1 vA 650 98.0 70.0( L9 L18 1¢ V-2 vA 100 104.0 64.0
G5 G1 3¢V-1 A 100 89.0 79.0 12 14 44 N+1 vA 650 98.0 70.0|N10 N14 2NV-2 A 100 104.0 64.0
I5 11 3¢ O-1 &A 100 89.0 79.0( D6 D8 44 N+1 vA 650 98.0 70.0 (N11 N13 4¢ V-2 vA 100 104.0 64.0
E6 E5 3¢ V-1 &A 100 89.0 79.0(L10 L2 44 N+1 %8 650 98.0 70.0(F15 F11 4¢ V-2 vA 100 104.0 64.0
K6 K12 3¢ V-1 100 89.0 79.0(L17 L3 44 N+1 46 650 980 700|F19 F1 3#V-2 A 100 104.0 64.0
K7 K5 3¢ V-1 100 89.0 79.0(L20 L4 44 N+1 vA 650 98.0 70.0( B1 B4 3¢ V-1 &2 50 83.0 85.0
A8 A6 3¢ V-1 &A 100 89.0 79.0( H1 H3 44 N= ¢6 620 65.0 103.0| D5 D14 INV-1 &2 50 83.0 85.0
G8 G3 4¢ V-1 &A 100 89.0 79.0( E3 E10 5¢ S+1 42 620 65.0 103.0| F5 F14 3¢ V-1 ¥vA 50 83.0 85.0
D10 D15 3¢ V-1 &5 100 89.0 79.0( J3 J2 5¢ S+1 v9 620 65.0 103.0| L5 L14 3¢ V-1 ©vA 50 83.0 85.0
F10 F15 3¢ V-1 48 100 89.0 79.0( M3 M8 5¢ S+1 v9 620 65.0 103.0| E7 E6 3#V-1 A 50 83.0 85.0
G10 G9 3¢ V-1 &#A 100 89.0 79.0( C4 C3 5¢ S+1 ¥3 620 65.0 103.0| B8 B9 3¢ O-1 49 50 83.0 85.0
B12 B3 3¢ V-1 49 100 89.0 79.0( H4 H10 44 N= <vA 620 65.0 103.0| D10 D2 3¢ V-1 4A 50 83.0 85.0
Ji12 J8 3¢ V-1 &A 100 89.0 79.0( J4 J1 44 N= ©vA 620 65.0 103.0|G15 G1 2¢ V-1 &A 50 83.0 85.0
M13 M9 3¢ V-1 A 100 89.0 79.0| D5 D14 5¢ S+1 9 620 65.0 103.0 | L17 L3 3¢ V-1 ¥vA 50 83.0 85.0
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«A 100 89.0 79.0 I5 11 5¢ S+1 T 620 65.0 103.0|L20 L4 1e¢ V-1 vA 50 83.0 85.0
«A 100 89.0 79.0| L5 L14 5¢ S+1 9 620 65.0 103.0| E3 E10 3v S-1 +A -50 67.0 101.0
A 100 89.0 79.0( H6 H7 5¢ S+1 v9 620 65.0 103.0 I3 16 4vS-1 +A -50 67.0 101.0
«Q 100 89.0 79.0( E7 E6 44 N= vA 620 65.0 103.0| L6 L8 3vS-1 ¢K -50 67.0 101.0
«A 100 89.0 79.0| A8 A6 5¢ S+1 v9 620 65.0 103.0( F9 F18 3v S-1 +K -50 67.0 101.0
¢ A -50 52.0 116.0| B8 B9 44 N= ¢6 620 65.0 103.0|G11 G10 3v S-1 +¢A -50 67.0 101.0
*A -50 52.0 116.0| E9 E4 5¢ S+1 ¥9 620 65.0 103.0|J12 J8 2¢v S-1 +A -50 67.0 101.0
¢ A -50 52.0 116.0 H9 H8 5¢ N+1 ¥9 620 65.0 103.0( J3 J2 2¢ V= +8 -90 56.0 112.0
¢ A -50 52.0 116.0| L9 L18 5¢ S+1 ¢9 620 65.0 103.0| F10 F2 1e¢ V+1 &2 -90 56.0 112.0
*A -50 52.0 116.0 |G11 G10 5¢ S+1 ¥9 620 65.0 103.0| F17 F3 1le¢ V+1 ©vA -90 56.0 112.0
¢ A -50 52.0 116.0(J12 J8 44 N= vA 620 65.0 103.0 [ L19 L1 2¢ V= &A -90 56.0 112.0
¢ A -50 52.0 116.0|G14 G7 44 N= <vA 620 65.0 103.0| F20 F4 2¢ V= vA -90 56.0 112.0
*J -50 52.0 116.0 |D15 D11 44 N= 46 620 65.0 103.0| N1 N8 3vS-2 +A -100 46.0 122.0
v7 -50 52.0 116.0(G15 G1 5¢ S+1 ¥9 620 65.0 103.0(J10 J6 3¢ S-2 K -100 46.0 122.0
¢ A -50 52.0 116.0| L15 L11 5¢ S+1 ¥9 620 65.0 103.0 |E12 E1 34 N-2 &3 -100 46.0 122.0
*A -50 52.0 116.0|F17 F3 44 N= +6 620 65.0 103.0| D15 D11 3v S-2 +A -100 46.0 122.0
¢ A -50 52.0 116.0 ([G17 G8 44 N= vA 620 65.0 103.0 [N16 N12 3v S-2 K -100 46.0 122.0
+J -50 52.0 116.0|D19 D1 44 N= vA 620 65.0 103.0| H1 H3 1e¢ V+2 &2 -110  25.0 143.0
A -90 36.0 132.0| D9 D18 3vDO-2 ¢+A 500 37.0 131.0( M1 M10 3¢ V= vA -110 25.0 143.0
a5 -90 36.0 132.0|D17 D3 2vDO-2 «K 500 37.0 131.0| A2 A7 3#V= vA -110 25.0 143.0
SA -90 36.0 132.0|D12 D13 2¢vDO-1 ¢«A 200 34.0 1340 C2 Cl1 1¢ V+2 ¢4 -110  25.0 143.0
¢A -100 24.0 1440| C2 Cl1 4¢ S+3 +3 190 32.0 136.0( B3 B5 3¢ O= &K -110 25.0 143.0
&3 -100 24.0 144.0| B3 B5 4¢ S+2 v9 170 23.0 145.0| H4 H10 3¢ V= vA -110 25.0 143.0
¢A -100 240 1440| K3 K2 3¢ S+3 170 23.0 145.0 | K4 K10 1¢ V+2 -110  25.0 143.0
¢A -100 24.0 144.0| J5 J11 4¢ S+2 +9 170 23.0 145.0( G5 G16 1¢ V+2 &5 -110  25.0 143.0
¢A -100 24.0 1440 G9 G4 3¢ S+3 v9 170 23.0 1450 H6 H7 1¢ V+2 vA -110 25.0 143.0
¢Q -100 24.0 144.0| N9 N15 4¢ S+2 +9 170 23.0 145.0( F7 F16 1¢ V+2 vA -110 25.0 143.0
¢A -100 24.0 144.0|N10 N14 3¢ S+3 +3 170 23.0 1450 G9 G4 2¢ O+1 ¥9 -110  25.0 143.0

¢A -100 24.0 1440(E12 E1 3¢ S+3 +9 170 23.0 1450 M9 M2 2¢ O+1 ¥Q -110 250 143.0

¢A -100 24.0 144.0|N16 N12 3¢ S+3 ¢9 170 23.0 145.0( N9 N15 3¢ V= vA -110 25.0 143.0
«A -110 13.0 155.0 I3 16 44 N-1 vA -100 10.0 158.0|B11 B6 3¢ O= 49 -110  25.0 143.0
49 -110 13.0 155.0| M5 M6 44 N-1 vA -100 10.0 158.0(G12 G13 2¢ O+1 +Q -110 25.0 143.0
&A  -130 9.0 1590| L6 L8 44 N-1 vA -100 10.0 158.0|M14 M12 3¢ V= vA -110 25.0 143.0
vA -130 9.0 159.0| F7 F16 44 N-1 vA -100 10.0 158.0|D17 D3 2NV +1 &3 -150 8.0 160.0
¢+A -150 3.0 165.0| F20 F4 44 N-1 vA -100 10.0 158.0| J5 J11 3vDS-2 ¢A -300 4.0 164.0
¢A -150 3.0 1650 H2 H5 64 N-2 vA -200 3.0 1650 F6 F8 4vDS-2 ¢A -300 4.0 164.0
a4 -150 3.0 165.0| K4 K10 44DN-1 -200 3.0 1650 E9 E4 44N-6 ¢7 -300 4.0 164.0
¢A -150 3.0 165.0| F19 F1 3NN-3 vJ -300 0.0 168.0| J7 J9 3¢DV= ¢4 -470 0.0 168.0
78.5 - A3 87.9 - A3 87.9

63.5 M4 - 81.8 M4 - 81.8

87.9| N4 - 93.1 N4 - 93.1
93.0 - K8 93.0 - K8 93.0

70.6 F12 - 75.9 F12 - 75.9
92.1 - B7 101.4 - B7 101.4
81.2 - G3 73.0 - G3 73.0
854 - D4 85.8 - D4 85.8
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